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STATISTICAL KEYS

Key Function Page
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Dear customer,

Thank you very much for purchasing our electronic cal-
culator.

To fully utilize its features no special training is re-
quired, but we suggest you study this operation manual
to become familiar with its many abilities. To help
ensure its longevity, do not touch the inside of the cal-
culator, avoid hard knocks and unduly strong key
pressing. Extreme cold (below 32°F or 0°C), heat
(above 104°F or 40°C) and humidity may also affect
the functions of the calculator. Never use volatile fluid
such as lacquer thinner, benzine, etc. when cleaning
the unit. For servicing contact your retailer or nearby
dealer.

Before starting calculation, be sure to press the (0N key
and to confirm that ’0.”’ is shown on the display.

* Special care should be taken not to damage the unit
by bending or dropping. For example, do not carry
it in your hip pocket.

INDEX
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1/GENERAL GUIDE
1-1 Modes

. . . de
To put the calculator into a des'lred operating mode,
or to select a specific angular unit, press first, then

@, @,... or (8

@®(@) - COMP mode. Carry out ordinary arithmetic
and functional calculations.

Mog(1) - BASE-N is displayed. Carry out Binary/octal/
decimal/hexadecimal conversions, calcula-
tions and logical operations. . )

@1(2) - LR is displayed. Calculate regression analysis.

#(3) — SD is displayed. Calculate standard deviation.

(od(a) - B (with fx-100V, DEG) is displayed. Use
degrees as the unit of apgle_ measurement.

@BE) - [ (with fx-100V, RAD) is displayed. Use ra-
dians as the unit of angle meqsurement.

@®E) - [@ (with fx-100V, GRA) is displayed. Use
grads as the unit of angle measurement.

— Press any number from O to 9 to !ndlcate how
many decimal places you want displayed (FIX
is displayed).

- Presspanz/ number from 1 (1 digit) to 0(10
digits) to indicate howsrgzlar)y Z{gnllfncagi digits

ou want displayed ( is displayed).
pog(8) - &eleases instructions entered in #8(7] and
#6(8). This operation also changes the range

of the exponent display (see page 7).

-2 The displa
! play (fx-115V/570AV/570CV/991V)

B ™ MK hyp BASEN SD LR B @ FIX SCI
1.2 34567891 -99
T | —
Mantissa Exponent

The display shows input data, interim results and an-
swers to calculations. The mantissa section displays
up to 10 digits. The exponent section displays up to
+99.

—E-or -C — Error indication (see page 11).
=) Pressing of (see page 113).
™ Pressing of (see page 6).

_6_

M Something is being stored in the
memory (see page 111).
K A constant is being used in calcula-

tions (see page 109).

hyp Pressing of () (see page 164).

BASE-N BASE-N mode (see page 129).

SD Standard deviation calculation (see
page 176).

LR Regression analysis calculations (see
page 183).

B or @ or [ — fx-115V/570AV/570CV/991V
(DEG or RAD or GRA — fx-100V)
Angular unit (see page 162).

FIX Decimal places of a displayed value is
being designated (see page 168).
SCI Significant digits of a displayed value

is being designated (see page 168).
45-12/23 (see page 121).
12°3'45.6" (see page 162).

45112.423.
12°3°45.6

B Exponential Displays

The display can show calculation results only up to 10
digits long. When an intermediate value or a final result
is longer, the calculator automatically switches over
to exponential notation. Values greater than
9,999,999,999 are always displayed exponentially,
while the lower limit is selectable. Note the following:

Type Lower limit Upper limit
A (Norm 1) 0.01 9,999,999,999
B (Norm 2) 0.000000001 9,999,999,999

Values less than the lower limits or greater than the
upper limit shown above are displayed using exponen-
tial format.

Use the following procedure to switch between the

Type A lower limit and the Type B lower limit:

(D Check the display to see if the FIX or SCI symbols
are shown, indicating that the number of significant
digits or the number of decimal places have been
cified. If either of the symbols is shown, press
Mg (8) to cancel the specification.

(@ Perform the following calculation: 1 32008

-7 —



limit is.
If the display reads:
5.-93, the current setting is
Type A
0.005, the current setting is
Type B
(@ Press @(8) to switch between the Type A and Type
B lower limits.
08 (@) while the number of significant digits (SCI dis-
played) and/or the number of decimal places (FIX dis-
played) are specified. The first time you press #8(8),
you clear the FIX and SCl specifications, and so you

(3 Look at the display to see what the current lower

\f the display reads:

*Note that the lower limit is not changed if you press
must press #g(8) again to change the lower limit.

2/ORDER OF OPERATIONS AND LEVELS

Operations are performed in the following order of
precedence:

1. Functions

2. x*, x» R—=P, PR, nPr, nCr
3. x, +

4. +, —

Operations with the same precedence are performed
from left to right, with operations enclosed in paren-
theses performed first. If parentheses are nested, the
operations enclosed in the innermost set of paren-
theses are performed first.

*Registers L, through Le are provided to store opera-
tions of lower precedence (including parenthetical
operations). Since six registers are provided, calcu-
lations up to six levels can be retained.

*Since each level can contain up to three open paren-
theses, parantheses can be nested up to 18 times.

Example (4 levels, 5 nested parentheses)

Operation
2A0O03Ea4B00504mE 3D
1level 1level 1level 1level A
@asnens

Register contents at point A.

3/CALCULATION RANGE AND
SCIENTIFIC NOTATION

| Normal display

V77 Scientific notation

WhgnAthe answer exceeds the normal display capaci-
ty, itis automatlcally shown by scientific notation,
10-digit mantissa and exponents of 10 up to +99.

() The minus (—) sign for mantissa
(2) The mantissa

(3 The minus (—) sign for exponent
(@ The exponent of ten

The whole display is read:
—1.234567891x 10 *”°

-9



*Entry can be made in scientific notation by using the
key after entering the mantissa.

EXAMPLE OPERATION  READ-OUT

—~1.234567891x10°°
(= —0.001234567891)

1(:)234567891 —1.234567891
—1.234567891 00
36| - 1.234567891 —03

4/CORRECTIONS

If you notice -an input mistake before you press the
arithmetic operation key, simply press
value and enter it again.

In a series of calculations, you can correct errors in in-
termediate results by recalculating correctly when the
error appears and then continuing with the original ser-
ies from where you interrupted it.

You can also use the (&) key to backspace through an
entered value until you reach the digit you wish to
change and then make any necessary corrections. For
example:

To change entry of 123 to 124

123 123.
12.
4 124.

If you make a mistake by pressing the wrong key when
entering €3, @, B3, &, &) or , simply press the
appropriate key to correct. In this case, the most re-
cently pressed key operation is used, but it retains the
order of precedence of the original operation entered.

to clear the |
|

5/0VERFLOW OR ERROR CHECK

Overflow or error is indicated by the “~E-"" or '~ ="
sign and stops further calculation.

Overflow or error occurs:

a) When an answer, whether intermediate or final, or
accumulated total in the memory is more than
1x 10'% (“—E-" sign appears).

b) When function calculations are performed with a

number exceeding the input range (“-E-"" sign
appears).

c) When the ranges for any of the number systems
used in the BASE-N mode are exceeded. ("'-E-""

sign appears).

d) When unreasonable operations are performed in
statistical calculations (“~E-"' sign appears).

e) When the total number of levels of explicity and/or
implicity (with addition-subtraction versus
multiplication-division including x* and x') nested
parentheses exceeds 6, or more than 18 pairs of
parentheses are used (“-LC - sign appears).

Ex.) You| ha\éefpressgd the (&) key 18 times continu-
ous efore designating the sequence of
dea K

To release these overflow checks:

a), b), c), d) ... Press the @ key.

P DT Press the @ key. Or press the (@ key,
and the intermediate result just before
the overflow occurs is displayed and
the subsequent calculation is possible.

Memory protection:

The content of the memory is protected against over-
flow or error and the accumulated total is recalled by
pressing the (W] key after the overflow check is released
by the key.



6/POWER SOURCE

*fx-100V

One AA size manganese dry battery (UM-3) or R6P
(SUM-3) gives approximately 17,500 hours con-
tinuous operation.

When battery power decreases, the whole display
darkens. Battery should then be renewed. Be sure
to switch OFF the power before changing.

*fx-5670AV

One alkaline-manganese battery (LR54 (LR1130))
gives approximately 1,000 hours continuous oper-
ation (approx. 4,700 hours on type SR54
(SR1130)).

When battery power decreases, the whole display
darkens. Battery should then be renewed. Be sure
to switch OFF the power before changing.

*fx-570CV

One alkaline-manganese battery (LR44) gives ap-
proximately 2,700 hours continuous operation (ap-
prox. 10,000 hours on type SR44 (G-13) silver
oxide battery).

When battery power decreases, the whole display
darkens. Battery shoud then be renewed. Be sure
to switch OFF the power before changing.

Battery replacement

(fx-100V/570AV)

1. Open the back panel of the unit by loosening the
screws and remove dead battery.

2. Insert a new battery with polarity as indicated.

3. Replace the back panel.

(fx-570CV)

1. Open the battery compartment lid on the back of
the unit and remove dead battery.

2. Insert a new battery with polarity as indicated.

3. Replace the battery compartment lid.

i
|
|

PRECAUTIONS:

Incorrectly using batteries can cause them to burst or

leak, possibly damaging the interior of the unit. Note

the following precautions:

eBe sure that the positive (+) and negative (—) poles
of the battery are facing in the proper direction.

eNever leave a dead battery in the battery com-
partment.

eRemove the battery if you do not plan to use the unit
for long periods.

eReplace the battery at least once every 2 years, no
matter how much the unit is used during that period.

eNever try to recharge the battery supplied with the
unit.

eDo not expose batteries to direct heat, let them be-
come shorted, or try to take them apart.

Should a battery leak, clean out the battery com-
partment of the unit immediately, taking care to
avoid letting the battery fluid come into direct con-
tact with your skin.

Keep batteries out of the reach of small children.
If swallowed, consult with a physician immediately.

*fx-115V/991V

The CASIO C-POWER system makes it possible to
operate calculators any place even in complete
darkness; you don’t have to worry about the light
conditions.

*This unit protects memory no matter what the light
conditions.

*This unit uses two power sources: an amorphous sili-
con solar cell, and a lithium battery (GR927).

*A weakened lithium battery is indicated when the
memory contents spontaneously clear or when the
display darkens under poor light conditions and can-
not be restored by pressing the (0N key. Anytime such
symptoms occur, the unit should be taken to your
retailer or nearby dealer for battery replacement.

*Lithium battery replacement should only be performed
by your retailer or an authorized dealer.

*To ensure proper operation the lithium battery should
be replaced once every six years no matter how much
the unit is used.



Auto power-off function

This unit automatically switches OFF if not operated
for approximately 6 minutes. Power can be restored
by pressing the @ key. Memory contents and mode
setting are retained even when power is switched off.

7/SPECIFICATIONS

BASIC OPERATIONS

4‘ basic calculations, constants for +/—/X /=/x/
X ’y/AND/OR/XOR/XNOR, parenthesis calculations
and memory calculations.

BUILT-IN FUNCTIONS

Trigonometric/inverse trigonometric functions (with
angle in degrees, radians or grads), hyperbolic/inverse
hypeérbolic functions, common/natural logarithms, ex-
ponential functions (common antilogarithms, natural
antilogarithms), powers, roots, square roots, cube
roots, squares, reciprocals, factorials, conversion of
coordinate system (R—P, P—R), permutations, com-
binations, random number, , fractions, percentages,
binary, octal, decimal and hexadecimal calculations and
logical operations.

STATISTICAL FUNCTIONS

Standard deviation, linear regression, logarithmic
regression, exponential regression, and power
regression.

PHYSICAL CONSTANTS

— §x-570AV/570CV/991V

Speed of light in vacuum, Planck constant, Gravitation-
al constant, Elementary charge, Electron rest mass,
Atomic mass unit, Avogadro constant, Boltzmann
constant, Molar volume of ideal gas at s.t.p.

MEMORY
1 independent memory and 6 constant memories.

CAPACITY

Entry/basic calculations

10-digit mantissa, or 10-digit mantissa plus 2-digit ex-
ponent up to 10*%.

Fraction calculations
Total of integer, numerator and denominator must be
within 10 digits (includes division marks).
Scientific
functions
sinx/cosx/tanx | x| <9x 10° degrees

(<5x 107w rad, <10'° gra)

Input range

sin 'x/cos x| x| =1
tan”lx |x|<10100
sinhx/coshx | x| =230.2585092
tanhx x| < 10100
sinh ™ 'x |x] <5x10%
cosh ™ 'x 1=x<5x10%
tanh™'x [x] <1
logx/Inx 10" =x< 10"
e -10'""<x=230.2585092
10* -10"<x< 100
x’ x>0- -10'""<y.logx< 100
{x=0—'y>0
x<0—y :integer or 1/2n+1
(n : integer)
X'y x>0-yx0 —10'%°< 1/y.logx< 100
{x=0—'y>0
x<0—y : odd number or 1/n
(n : integer)
Vx 0=x<10'"
)3(2 | x| <10%°
Vx | x| <10
1/x | x| <10'" (x%0)
x! 0=x=69 (x : integer)
nPr/nCr O0=r=n, n<10'

(n, r : positive integer)

“C_ertain combinations or permuta-
tions may cause errors due to over-
flow during internal calculations.



REC—POL Y2 +y? <101
POL—REC 16| <9x 10’ degrees
(<5x 10w rad, <10 gra),
0=r<10'
o up to second
™ 10 digits

*Errors are cumulative with such internal continuous
calculations as x*, x'», x!, i~ so accuracy may be
adversely affected.

*Qutput accuracy

+1 in the 10th digit.

DECIMAL POINT
Full floating with underflow.

EXPONENTIAL DISPLAY

Norm 1 — 1072> | x|, | x| =210"
Norm 2 — 107°> | x|, |x| z10"
READ-OUT

Liquid crystal display, suppressing unnecessary 0O's
(zeros).

POWER SOURCE

*fx-100V
Power source: One AA size manganese dry battery
(UM-3 or R6P (SUM-3))

Battery life: The unit gives approximately 17,500
hours continuous operation on type UM-3
or type R6P (SUM-3).

Power consumption: 0.00009 W

*fx-570AV

Power source: One alkaline-manganese battery (LR54

(LR1130)) or SR54 (SR1130))

Battery life: The unit gives approximately 1,000 hours
continuous operation on type LR54
(LR1130) (4,700 hours on type SR54
(SR1130)).

Power consumption: 0.0001 W

ofx-570CV
power source: One alkaline-manganese battery
(LR44) or SR44 (G-13) silver oxide
battery.
Battery life: The unit gives approximately 2,700 hours
continuous operation on type LR44
(10,000 hours on type SR44 (G-13)).
power consumption: 0.0001 W
ofx-115V/991V
power source: Amorphous silicon solar cell, lithium
battery (GR927)
Lithium battery life: 6 years with GR927 (1-hour daily
use).

AMBIENT TEMPERATURE RANGE
0°C — 40°C (32°F - 104°F)
DIMENSIONS
¢fx-100V 22.5mmH X 76mmW x 1563mmD
(715" Hx 3""W x 6''D)
efx-115V 17.5mmH X 73mmW X 140mmD
(%4 " HX 2'3""W x 5%,"'D)
efx-5670AV/570CV 10mmH X 73mmW x 140mmD
(1s""Hx 27/5""W x 5'/,'D)

*fx-991V  8.5mmH x 73mmW x 140mmD
(°/6""Hx 27/5""W x 5'/"'D)

WEIGHT

«fx-100V 100 g (3.5 0z) including battery

ofx-115V 64 g (2.3 02)

efx-570AV 62 g (2.2 oz) including battery

*fx-570CV 66 g (2.3 oz) including battery

efx-991V 59 g (2.1 o2)



8/NORMAL CALCULATIONS

*You can_perform normal calculations in the COMp
mode (@). )

*Calculations can be performed in the same sequence
as the written formula (true algebraic logic).
*Nesting of up to 18 parentheses at 6 levels is alloweq,

8/CALCULOS NORMALES

*Se pueder realizan célculos normales en el modg
COMP (Mg(0]). . .
*Los célculos se pueden hacer en .Ia misma secuencia
de la formula introducida (légica algebraica ver-

dadera). .
*Se permite el establecimiento de hasta 18 parente-
sis en 6 niveles.

8/CALCULS NORMAUX

*Les calculs normaux peuvent étre effectués dans |g
mode COMP (((0)).

*Les calculs peuvent étre effectués dans le méme
ordre que la formule écrite (vraie logique a!gébane).

*L'imbrication de 18 parenthéses ¢n 6 niveaux est
possible.

8/ —#EER

* 53] LU7E COMP k2 (600 (0)) B W45 — WEH 0.,
*E WA ALE AR N AT (KRG .
“$E3% ST LU E 64 181A.

8. EEAILH

*COMP W AISlollA EEHMS #E 27} S (#(Q)),
pze s e

* 7|0 U LA T M2 AlLtol dsHA (o4
X xeal).
* 6 CHAIR 1871 MU ALHS HHx2 8 F 9

=3

—106— \+1

8/PERHITUNGAN BIASA

*Anda dapat melangsungkan perhitungan biasa dalam
mode COMP (%])A

*Perhitungan dapat dilangsungkan dalam urutan yang
sama dengan rumus yang tertulis (logika aljabar yang
benar).

*Dapat digunakan perhitungan 18 tanda kurung de-
ngan 6 tahap beruntun.

Qoladl Gleaads C.\‘tala.c//\
£Gidl) COMP payll 3 ulall Uliall olilae <ha] oSy »

({9 g
LSl 2Y ol 3 S ol udi Dbeasd) sllae elal dias

(iall el 3hit)

A;,L;\,LAm‘\_\;:_‘_,‘._,.a\AJL;J'AlJ;,L” T

8-1 Four basic calculations (incl. parenthesis
calculations)

8-1 Cuatro calculos basicos (incluidos los
célculos con paréntesis)

8-1 Quatre calculs élémentaires (y compris les
calculs avec parenthéses)

-1 AEH (BEE®NER)
-1 47kX] J12X Aol S(MA™E ZE)

8-1 Empat perhitungan dasar (termasuk perhi-
tungan dalam kurung)

3.1_.|J‘ﬂ| 3___n.¢aLqu| g:.\L.u.;J| QLala.ﬁ_ \ - A
(01 $8Y) Sbiluia e dlaiiia)
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EXAMPLE OPERATION READ-OUT

EJEMPLO OPERACION LECTURA

EXEMPLE OPERATION AFFICHAGE

il # 1F b ]

EE =E HyYos

CONTOH OPERASI HASIL

Jtie Jaiuzalt o2yl

23+4.5-53=

A
56x(—12)+(-2.5)=

5663120201568 268.8

2-3x(1x10%)=
2E3031&2063(6.666666667 19
7x8-4x5(=56-20)=
@s@4@se___ %)

1+2-3x4+-5+6=

1m2@3nsmsmen 64

6
4x5

ssemema 03

*The number of levels of the [ key can be displayed.

*El numero de niveles de la tecla () puede presentar.
se en pantalla.

*Le nombre de niveaux de la touche (& peut étre
affiché.

* (@ B MBETLBETR K,

. 7] waloM el £XHE HATISE.

* Jumiah tahapan dari tombol dapat dinampakkan,
] sl Slsiane 26 pae (Say

—108—\'A

2x{7+6x(5+4)}) =

28 C 01 0.
763683 C 02 0.
5348 122.

«t is unnecessary to press the key before the B
key-

.Sinnecesario presionar la tecla (+) antes de la tecla

#| est inutile d’appuyer sur la touche avant
d'appuyer sur la touche B.

'd = FADES L 2 3F B
‘azle 271 &l 7€ F2x cotx &
«Tidak perlu menekan tombol (+1) sebelum tombol B.
B il U () il bis g0l S pud +
10-{7x(3+6)} =
108® 703668

-53.]

Another operation:

Otra operacion:

Autre maniere de faire:
LR :

g chg 71s.

Operasi lain:

AR 108E708E306EH8

8-2 Constant calculations

*The K" sign appears when a number is set as a
constant.

8-2 Calculos con constantes

*el signo ‘K’ aparece cuando se establece una
constante.

—109—-1\-94




8-2 Calculs avec constante
*Le signe ‘K" apparait sur I'affichage quand un nom.
bre est véglé comme constante.

BIREFHE KR ERRLR,

TOEAIZE LHERE.

8-2 Perhitungan tetap _ )
*Tanda "K'’ tampak jika suatu bilangan ditentukan
sebagai tetapan.

ol il Ol Sladas ¥ - A
L2l a3, land ie UK LMl gk«

3+2.3= 2(3@@38_“ 5.3

6+2.3= 68| -~ 8.3
2.3x12=

(-9)x12=

128082038~ 27.6
feloa) = | —108.

17+17+17+17=
17608

1.7%2=
1.73

1.7%=

—110—\\+

3xX6X4=
3x6x(-5)=

* 18.
* 72.
“ -90.

56

4x(2+3)

23 _

Ax(2+3)
Y x [P + R =] =]

8-3 Memory calculations using the independent

memory

*When a new number is entered into the independent
memory by the M key, the previous number stored
is automatically cleared and the new number is put
in the independent memory.

*The ‘M’ sign appears when a number is stored in the
independent memory.

*The contents accumulated into the independent
memory are preserved even after the power switch
is turned off.

To clear the contents press (0)Mn) or EBMn) in se-
quence.

8-3 Calculos con memoria usando la memoria

independiente

*Cuando se ingresa un nuevo numero en la memoria
independiente mediante la tecla M, el nimero alma-
cenado previo se borra automaticamente y el nuevo
numero ingresa en la memoria independiente.

*Cuando un numero se almacena en la memoria inde-
pendiente, aparece el signo “M".

*Los contenidos acumulados en la memoria indepen-
diente se conservan aun después de apagarse la
unidad.

Para borrar los contenidos presione (0)Mn) o B8 M} en
secuencia.

—111- 1\




8-3 Calculs avec mémoire en utilisant la T -3 Perhitungan memori dengan memakai

mémoire indépendante

*Lorsqu’un nouveau nombre est entré dans la mémoire
indépendante avec la touche (i, le précédent nom-
bre sauvegardé est automatiquement effacé et le noy-
veau nombre est mis dans la mémoire indépendante,

*Le signe ““M’’ apparait lorsqu’un nombre est sauve-
gardé dans la mémoire indépendante.

*Le contenu accumulé dans la mémoire indépendante
est préservé, méme aprés la coupure de |'alimen-
tation. .
Pour effacer le contenu, appuyer dans l'ordre syr

(©@)Fn ou ESM.

8-3 FABIMETRFLEHE

EIRT RS- FHONERA—RIFFER, B
YEERRANBRAES 8 B, LRTHS Ry
—AE.
—WERERTARISFRRBETRES M
BFASHRANATHEMMEIZ &, LEAKE
#HBRIR T

-

-

i T (@B SEROESF . ETLURBEERZ,

8-3 =xtx RS ALS S ol=2|AlL
H2e 22X R Flol s SXEA Tl Fxol Y y
o oix SAX AW RAHE ASHoE2 MM M2
2x7) SR (ARl UsIofE.

saxizh, SAHE 7|oiFxlof MEE WE MTEAT} U
[=3
=
cExix 7| AR SOIUE B, BALAXIIL MY

sols a2 BES US. MESHO UE HEE AF
staiod ([0)a olt BN 7| E Xf2AchHE =2 FH &,
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memori bebas
+Jika sebuah bilangan baru dimasukkan ke dalam
memori bebas melalui tombol M, maka nilai yang ter-
simpan sebelumnya terhapus secara otomatis dan
pilangan baru tersimpan dalam memori bebas.
sTanda "M’ tampak ketika sebuah bilangan tersimpan
dalam memori bebas.
*|si memori bebas terlindung sekalipun saklar daya
dimatikan.

Untuk menghapus isi memori tekan (0)Mn) atau
perurutan.

;,Jsll.ll ‘zhi:u.ul..a 3y8tall Glua Gilalas ¥ - A
&dhead |

) Gl ooty UEl) 313 wyan 08y Jao] a3 Lesie
3 waall wBll fdgy LSSlagisl Libbe 531 23,00 ) o3
szl 5,81

sl 3810 3 a3) 5535 e "M LMl jelis

Loans i Lgo blisa¥! als Al 58130 3 daaadll obgball «
Y sy I 5,uall ke il Al
130 3 (i) @9 o1 Min) (0] pslath bl 5,513 Slgias ALY

L
53+6= 59
23-8= 15
56x2=112
+)99+-4= 24.75
210.75
5336830 59.
23@8m3| ™ 15.
56832m) ™ 112.
929@4m| v 24.75
M 210.75
7+7-7+(2x3)+(2x3)+(2x3)-(2x3)=19
7 M) R () 2 B3 3 M)

) ) ) )™ 19.]
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12x3= 36
—) 45)()3: 135
78x3=234
135

3BR128M

45 [ ]

78MY

M

8-4 Memory caiculations using & conistant
memories
d into a constant
‘When a new number is entere gis
memory by operating ENTRY &) ((d]J to (6]), the
previous number stored is automatically cleared ang
the new number is put in the constant memory. (With
the x-100V /570AV /570CV, press B [Kin).)
*The contents stored in the constant memories are
preserved even after the power switch is turned off,
To clear the contents press (0)Kn)(] (to (€)) o
Mo (1] (to (6]) in sequence.

8-4 Calculos con memoria usando memorias de
6 constantes )

*Cuando se ingresa un nuevo NUmMero en una memo-
ria de constante operando el ingreso de (X a(g)),
el nimero previo aimacenado se borra alutomat|0§.

y i sa en la memoria
mente y el nuevo numero ingre
de cons/tantes. (Con la fx-100V /570AV /570CYV,
resione [ (Kin).) )

’Eos contenidos acumulados en las memorlas de cons-
tantes se conservan aun después de apagarse [
unidad. } )

Para borrar los contenidos presione (0)[a)(1] (a (8))
o B[] (a (6)) en secuencia.

—114 - \\ ¢

g- Calculs avec mémoire en utilisant six
mémoires de constantes

rsqu’un nouveau nombre est entré dans une

émoire de constantes en utilisant I'entrée Kin) (1

4(8]), le précédent nombre sauvegardé est automati-
quement efface et le nouveau nombre est mis dans
la mémoire de constantes. (Avec la fx-100V /570AV /
570CV, appuyer sur B (i), )

“Le contenu sauvegardé dans les mémoires de cons-

tantes est préservé, méme aprés la coupure de |’ali-
mentation.

Pour_effacer le contenu, a

(1) (jusqu'a (8)) ou

¥

puyer dans !'ordre sur
[l fjusqu'a (85,

§-4 A6 AFHTEHMEREHE
‘EE%E’FENTRY@$<i@»%~!ﬁfﬁ!ﬁ)\Lxﬁ§
7 H YR, FRABEFENOMAES B A, A2
BHE—NEBERE.

(72 7 x-100V/570AV/570CV B, 126 Ka) 5)
AT FBRANBRNE SR8 thE%E
% HEHRIR 75
W}E'F@@@(E@Jﬂ@@@(i@)iﬁaﬂmﬁ
FEALUABRETRE

8-4 6 7tX12 M4 MmalE AR oma
Hi Ak

MEE RAZE A=) () - (8) e =S o ofaf

B
TOAEAIS UL W, ofX AKX YA A=
AMME. JelD 22 22Xt HE olefE

(x-100V/570AV/570CY 2, i) (Km) 7|

s SORUE Eue MAALRII HEA
Fols TR RES0] 9. viel X{As0{Ys RS
A2 et [DERE] (oM (87 x] ol @RI (ol
HEHAD = Rpelthe SefFol s
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8-4 Perhitungan memori dengan memakai
6 memori tetap

* Jika sebuah bilangan baru dimasukkan ke dalam
memori tetap melalui operasi ENTRY i) ([ sampaj
(8)), maka nilai yang tersimpan sebelumnya terhapus
secara otomatis dan bilangan baru tersimpan dalam
memori tetap tersebut. (untuk fx-100V/570Av/
570CV, tekan ER)Kin).)

*|si yang tersimpan dalam memori-memori tetap ter-
lindung sekalipun saklar daya dimatikan.
Untuk menghapus isi memori tekan [@KiD(] (sam-
pai (6)) atau K= (sampai (6]) berurutan.

FAREST L 3,stall ol Slalas ¢ - A
Ll Sl Sl SIS

cestall Juisny GBI 5,13 agsa 2B Juao) ai Leaie o
Uil ool a3l A} o3 o( @) 3! @) (cim) ENTRY
Joasall Beill) BB 351N 3 swanll pBll el LSlogiyl
(- Fon) B cBl) baas] « fx-100V/570AV/570CV

Lo say s Lo Blia T o3 Sl 21 S0 3 &3l Shgiall
Sl pay J! 5,08l rlhde il asy

M@ ) DED @) slil) bas] 5,510 Shgiae dY
e 3 (B3 D m

-

193.2+23=8.4

19302mmezs|al__ 84

193.2+28=6.9

mo@zsal 69

193.2+-42=4.6

moeseal 4§

*Another operations by using the independent
memory:

*QOtras operaciones usando \a memoria independiente:
*Autres opérations en utilisant la mémoire indé
pendante:

AE R B TN EMRE:

cExA J|AWAE AISSE HE HE:

=
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r

+Qperasi lain dengan memakai memori babas:
(UELl) 5,1 Al a6 AT JaidS Sllee *

19302238, WR288. WR428
9x6+3 _

T 1425
966 3BT 57.
®7828088EE 20.
e, - [eeal =] 1.425

*Calculations in constant memory registers can also
pe performed by using the E3, é, and @ keys.
+| os céalculos con los registros de las memorias para
constantes se pueden hacer también con las tecla

s
cBeava
+| es calculs dans les registres de mémoire de cons-
tantes peuvent aussi étre exécutés en utilisant |
touches €3, B3, B3 et &. e
SrEREEESNHERCAERA0. . B 8
REEIT,
‘@8 0 1 @rise AguozM, B I
xxRel AlLto| I ==0{F.

dapat dilangsungkan dengan menggunakan

Bdan B
QI 5 M Loliaall Shlaadl ey o) Ll oSar #

858 B 05 s

*perhitungan dalam register-register memori tetég jtga

7x8x9=504
4x5x6=120
_3x6x9=162

(Total) (Total) (Total)
(#z1) (32 (Total) (Jlaay))

76R8 (2R (E)
= [

14 19 24 786

504.
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12x(2.3+3.4)-5-63.4
20%(2.3+3.4+4.5) - 156x4.5-238.5

1203®2(03630&EH
i G X

308345 EA

8 238.5

To exchange the displayed number (4.5) with the con-
tents of constant memory 1.

Para intercambiar el nimero presentado (4,5) con los
contenidos de la memoria para constantes 1.

Pour échanger le nombre affiché (4,5) avec le contenu

de la mémoire de constante 1.

B E8aLE | MR A R BIRB TN F4.5)
KAlE|0{Rl £XH(4.5) T HEolzal |2 SiEtAIT2] g

Al flet 23,

Untuk menukar nilai tampitan (4,5) dengan isi memori
tetap 1.

Vb 581 Slhyiaes (£5°) syt syl Jlady
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g-% Fraction calculations

*The display capacity as a fraction, whether entry or
result, is limited to a max. 3 digits for each integer,
numerator or denominator part and at the same time
to a max. 8 digits in the sum of each part. When an
answer exceeds the above capacity, it is automati-
cally converted to the decimal scale.

*A fraction can be transferred to the memory.
*When a fraction is extracted, the answer is displayed
as a decimal.

*A press of @ key after the B key converts the frac-
tion answer to the decimal scale.

8-5 Calculos de fracciones

*a capacidad de presentacion como fraccion, ya sea
de una entrada o resultado, esta limitada a un maxi-
mo de 3 digitos para cada integro, numerador o de-
nominador y al mismo tiempo a un méaximo de 8
digitos para la suma de cada parte. Cuando una res-
puesta excede la capacidad antedicha, ésta es con-
vertida automaticamente a la escala decimal.

*Una fracciéon puede ser transferida a la memoria.
*Cuando se extrae una fraccion, la respuesta es pre-
sentada como decimal.

*La pulsacion la tecla después de la tecla B, con-
vierte las fracciones a la escala decimal.

8-5 Calculs de fraction

*La capacité d’affichage de fraction, entrée ou résul-
tat, est limitée a un maximum de 3 chiffres pour
chaque entier, partie numérateur ou dénominateur,
et en méme temps & un maximum de 8 chiffres dans
la somme de chaque partie. Quand une réponse
dépasse la capacité ci-dessus, elle est automatique-
ment convertie en échelle décimale.

*Une fraction peut étre transférée dans la mémoire.
*Quand une fraction est extraite, la réponse est affi-
chée comme un nombre décimal.

*Une pression sur la touche (@& aprés la touche B3 con-
vertit la réponse fractionnelle a I’échelle décimale.
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8-5 SHER

%!&E@%Eﬁx@iﬂ‘%%?iiﬁki&ﬁ«&j. HEH, T

FEREE 3 WAL AEESBHNTENES ER

8 BfiL, SHEMNEERA L ABREES, BBREY

R | OEMIECHIE.

« FYE LSRR R,

. BT RIRET, BEEBLUOGEMRT.

cERB R RBE @R, SHERER I 0ELLK
Wi,

g-5 2™ AHMIIS

casE AN MAE B2 elzio|zd Amold AU
4, BX ££ 22FE chstod FHhE 3 XELFIR
st SAlof ztggel Sl Qlof z|CHEH 8 RS atx|
xstel. gol ojg2g EUUS W AREXH 22 MY o
oz weg

cagm ANe ZidF= 0l S7XE Aol 7ts
canm Aol FEsldBE, Alstel ZUE

8-5 Perhitungan pecahan

*Kapasitas tampilan bagi sebuah pecahan, baik
masukan atau hasil, dibatasi sampai maks. 3 digit bagi
tiaptiap bagian bilangan bulat, pembilang atau penye-
but dan pada saat yang sama sampai dengan mask,
8 digit dalam jumilah dari tiap-tiap bagian. Jika suaty
jawaban melebihi kapasitas di atas, maka secara oto-
matis akan dikonversi ke skala desimal.

*Sebuah pecahan dapat ditransfer ke dalam memori,

* Jika sebuah pecahan diringkas, maka jawaban ditam-
pilkan sebagai desimal.

*Tekan tombol (@ setelah B8 untuk mengkonversikan
hasil pecahan ke dalam skala desimal. :

—-120—\Y"

o ‘ JM|9MQMO—A
0SS “A-'U‘ S AR g U 5 alt L:,J ia
o bl sﬁAgmAl saadl e JSI qadl aaS olael ¥
}z—‘_,a?lsaﬂJ;gJ‘xIAfSqu&;ﬁ‘,”u&ﬁ?hJa‘;‘
L_‘g_.,l,._,,j JsaS o Mel 5,,Sall Ll LYY (S4a5S L».:\j’ifu‘
-,suiiﬂuﬂ all g1
) o 3 | S i Sy
wugf;w&ﬁs\ﬁw\}‘ 9‘-?»3“@)‘;5-:%-5@‘)@'0&’:
; Lo Blal Usae B il an @) g Bl bils )

ol o+

*

*

s pall
5 .1 .2 8
X (34150575 =
4@5@6EE 3@
124031 @23
8728298 3.7.568.
@|  3.012323944
@ 3.7
2£+§_1l_ 174568.
5ta 127
2@A@503@IE 3.11.20.
@ 3.55
131228 211.20.
(1.5x107)—{(2.5x10°)x%}=
105@ 78205636

8331008 14925000.

P . .
During a fraction calculation, a figure is reduced to

the lowest terms by pressin i

g a function command k
@ 8 8 or i ure i
() é) or the B key if the figure is

. .
D\IJrant'e un calcu’lo.de fraccién, una cifra es reducida
alos términos minimos al presionar una tecla de co-

mando de funcién (3, B3 5
) , bl [ i
la cifra es reducible. Bo@)olatecaBsi
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*Pendant un calcul de fraction, un chiffre est réq

e 5 . Ui
s'il est réductible, aux termes les plus bas et,;
aESuEant sur une touche de commande de foncﬁOn
(€3, &, B3, 8) ou sur la touche B.

CEFBEES, ESFEIFUAUNIERABR T
R EE 1 + N - N x 2 - v = B SRS eorY

CRRH AMHOIE, 21 RAT| oHEO| IS Ry
z2ol, 75 XA se@uUBis s

, bl S By
FozM =HMxINK O FpSE.

*Selama perhitungan pecahan, bilangan dise.
derhanakan ke bentuk terendahnya dengan menekan
salah satu tombol perintah fungsi (E3, &3, B3 atay
&) atau tombol B, jika bilangan itu dapat dise.
derhanakan.

spandl el J) bl JI53a] ab pmSll olon olilac oL
Bt (@58 8 ) byl b b ki,
Ja G A5l 5 1)

(Reduction) (Reduccioén) (Réductio
3&6 = 8_1_1 (¥14y) (24%) (Penyederhanaan) "
78 13 (Usa))

3@245606378 31456478,
8 8411113,

*By pressing continuously, the displayed value
will be converted to the improper fraction.

*Presionando las teclas continuamente, el va-
lor presentado serd convertido a la fraccién in-
correcta.

*Si on appuie sur continuellement, la valeur affi-
chée sera convertie en une fraction non inférieure 3
I"unité.

< HERRIR T o) (@0 2, BETRHABETFREABRIN,

‘B 7IE wsMoz B2 FoaM,

2

2 7tg+z datE.

TAlERS] Thx|3
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*pengan menekan (A (a4) berturut-turut, nilai tampilan
akan dikonversikan ke bentuk pecahan semu (pem-
pilang lebih besar).

Loyl Ll a3 i )il Gl baay «

continuing from above
Continuacion desde arriba

Suite

FTRMEE

ejel 20| O[O{A.

Lanjutan

el LSl pe Molsie 115.13.
l?%: 12@45@ 415,
4 32@568 ~32.105.

*The answer in a calculation performed between a
fraction and a decimal is displayed as a decimal.

*La respuesta de un célculo realizado entre una frac-
cién y un decimal aparece como decimal.

*La réponse a un calcul exécuté entre une fraction et
un nombre décimal est affiché comme un nombre
décimal.

CETOMBOGEM AT, BEELIOEMRR

-~

x

o}

24
i
>

121y AtolollA{ O FO{ZTI AHtte| A,
HBoeg MA=of &,

HiLtel

{1
|

T

x
=]

N
Ir
[Bal

*Jawaban suatu perhitungan yang dilangsungkan
antara pecahan dengan desimal ditampakkan dalam
bentuk desimal.

Sy ~S o mal Al Ol Glae e LYY Lo o3 x
i ,SS (5 pke

%x78.9: 41@5263 41.52.
5 78M98|  62.20961538
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8-6 Percentage calculations
8-6 Calculos con porcentajes
8-6 Calculs avec pourcentages
8-6 EALLEHE
8-6 HAME AHLIS
8-6 Perhitungan persentasi
E._",.‘;.Ui._u..;dl .._ah.a.n&l:nlos'\ = A
1,5002| 12%<= 7

12% de 1500 12% dari 1500
12% de 1500 Vot e /Y

1500871 2%
1soom12@mm@_____ 180]

Percentage of 660 against 880
Porcentaje de 660 contra 880
Pourcentage de 660 par rapport a 880
66085 LL880MI B L

6602 8802 ¥ % ?

Persentasi 660 dari 880

AA - saal] Lsdl W saall L) il

ceomssoemm ______ 75]

15% add-on of 2500
15% de aumento de 2500
15% de prime sur 25600
2500hn L H15%

2,5002 15% 2&E7
Tambahan 15% dari 2500
Yo - _,_\*JXJ.:.E_‘.L.@/\o

2500E3 1560

12% of 1500
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25% discount of 3500

25% de descuento de 3500
26% de remise sur 3500
35008 3¢ K 25%

3,5002| 25% @l ?
potongan 25% dari 3500
vor s saadl e dagrke /YO

e E—7

300cc is added to a solution of 500cc. What is the per-
cent of the new volume to the initial one?

Se agregan 300cc a una solucion de 500cc. ;Cual es
el porcentaje del nuevo volumen con respecto al
primero?

300cm® sont ajoutés a une solution de 500cm®. Quel
est le pourcentage du nouveau volume par rapport au
volume initial?

#%300cchn A500cc A0k R8BS, RTAYRABEEMZ/FRMA
A 2

300cc7t 500cce] Mol Cfs A
of CHE AHZ R || %E

a2 M0 2 E3

rr

300cc ditambahkan ke larutan 500cc. Berapa persen-

tasi volume baru dari volume mula-mula?

paall Ll il Lo a9t Jylae ) cdasl T Y-
¢ ¥ paall il wanll

3005008z 160

(%)

If you made $80 last week and $100 this week, what
is the percent increase?

SiUd. gano $80 la semana pasada y $100 esta sema-
na. ;Cudl es el porcentaje de suba?

Si vous avez gagné $80 la semaine derniére et $100

cette semaine, que est le pourcentage de |'augmen-
tation?
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Er - SRR T $S80, AZHIMR T S100, ERAMERMNE
B
kel

ol

X|h 4ol 80S v 2w OfpiFo 10051 ME A

&
FotEl % ?

Jika anda memperoleh $80 minggu laiu dan $100
minggu ini, berapa persen pertambahannya?

ales ¥V 13 Wea Ve oy galll g ¥l Y5 A alac 13
¢ 3oLl agd) Ll

26E3632200

572.

3300 -

858.

3800

988.

percentage of 30 against 192
percentage of 156 against 192

pcrcentaje de 30 contra 152
porcentaje de 156 contra 192

loomsomeE 25

12% of 1200
18% of 1200
23% of 1200

12% de 1200
18% de 1200
23% de 1200

(%)

12% de 1200
18% de 1200
23% de 1200

12008912% 12009} 12%%F ? 12% dari 1200
12008918% 12002] 18% - 7 18% dari 1200
1 2008923% 12002 23%%& 7 23% dari 1200
Y- e/ \ Y
AR YA
AY e /XYY
12008383 120 144,
18 ) 216.
23 276.
26% of 2200  26% de 2200 26% de 2200
26% of 3300 26% de 3300 26% de 3300
26% of 3800 26% de 3800 26% de 3800
22008926% 22002 26%+t 7 26% dari 2200
33008926% 33000 26% % 7 26% dari 3300
3800#926% 38009 26%: 7 26% dari 3800
YY - e Al
XY e, YR
YA e /YR
—126—-\Y1

pourcentage de 30 par rapport a 192
pourcentage de 156 par rapport & 192
0¥ 19289 S tE
I56%F 192808 -t
30 1929 W, 7
1560 1929 S 7
pPersentasi 30 dari 192
persentasi 156 dari 192
1Y suad) LeddU Y saald il L)
VAT all Bt Vel saall Ll Al

192 306D
156 &)

b 15.625
b 81.25

*600 grams was added to 1200 grams. What percent
is the total to the initial weight?

*510 grams was added to 1200 grams. What percent
is the total to the initial weight?

*Se agregan 600 gramos a 1200 gramos. ;Cuél es el
porcentaje del peso total con respecto al inicial?
*Se agregan 510 gramos a 1200 gramos. ;Cudl es el
porcentaje del peso total con respecto al inicial?

*600 g sont ajoutés a 1200 g. Quel est le pourcen-
tzge du poids total par rapport au poids initial?
*£10 g sont ajoutés & 1200 g. Quel est le pourcen-
tage du poids total par rapport au poids initial?
< §5600g M A1200gEs, MEBBEENAIZH?
<#E510g A 1200gRs, RERBFENE IR
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Ed < 2 zzol e
*g002 20l |,200082 H¥E #ne, M8 T
ys ] .
Mzl % ‘ e xg EEol O
*5102 3480l 1,200 E ag B9 M

Muzael %! —
*600 gram ditambahkan ke 1200 gram{a?erapa per
sentasi berat total :‘?n bf;afznélélag;g\x“ Berapa ser-
am ditambahkan " B

‘291[(\)‘89; perat total dari perat mula-mula? ‘
Coaeal s

\ .»,na,u..;u»u a2 VY J\‘(,\‘);‘\- __L___AL

EIPES LN} : RIS .
Jlaad! -‘,J\a_..,.;fu,(uﬁ\\'u J}(,\‘)__;ov sl

> [ P} ? .

1200 E3€3 600 &
51

t down is 138 grams to 150 grams?

o many percen‘ down is 129 grams to 150 grams?*

*How many percen ’ '

*;Cudlesel porcentaje de disminucion de 138 gramos
c 150 gramos?
con respecto @ ) c

*;Cudles el porcentaje de dnsrv;
con respecto @ 150 gramos’

inucion de 129 gramos

*Quel est le pourcentage de la diminution de 150 g par

? . . .
*gggloef;tal;:o%rgcentage de la diminution de 150 g par

rapport a 129 g?

. |38gttl50g’}\’f§’}}z&?7

* lZBgttlSOg’)‘T'é%Z?&, .

5 o 919, WoiEl el

nsoamol ek 1 DE s woi A2N?

1\ 24 3 24 -

*Berapa persen turunnya dari 150 gram menjadi 138

gram?

*Berapa persen turul

gram? e
~ 50 L iy ) il T 52

¢l \o~u‘_e\ﬁ\\'l\u_)‘,] i A Gl el

c:\i\o-}\,\ﬁ\nwguﬁh‘;‘]\u}d Lol pale

nnya dari 150 gram menjadi 129

9/BINARY, OCTAL, DECIMAL,
HEXADECIMAL CALCULATIONS

eBinary/octal/decimal/hexadecimal calculations and
conversions are performed in the BASE-N mode
(Mg (1]).

eBase values are set by pressing one of the following
keys:

KEY BASE
Decimal
Hexadecimal
Binary
@ ocn Octal
eCalculation range
BASE DIGITS RANGE
Binary 10 digits
Positive : 0=x=111111111
Negative: 1000000000=x=1111111111
Octal 10 digits
Positive : 0=x=3777777777
Negative: 4000000000=x=7777777777
Decimal 10 digits
Positive : 0=x=2147483647
Negative: —2147483648=x<0
Hexadecimal 8 digits

Positive : 0=<x= 7FFFFFFF
Negative: 80000000 = x=FFFFFFFF

eValid values

BASE VALUES

Binary: 0,1

Octal: 0,1,23,4,5,6,7

Decimal: 0,123,45,6,7,8 9

Hexadecimal: 0, 1,2,3,4,5,6,7,8 9, A,B,C,
D,E F

*Values other than noted above cannot be entered
while each respective base is in effect. The letters
B and D are displayed in lower case for hexadecimal.
*You cannot specify the unit of angular measurement
(degrees, radians, grads) or the display format (FIX,
SCI) while the calculator is in the BASE-N mode. Such

specifications can only be made if you first exit the
BASE-N mode.
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9/CALCULOS EN BINARIOS/OCTALES/
DECIMALES /HEXADECIMALES

*Los calculos y conversiones de numeros binariog,

octales, decimales y hexadecimales se realizan en ¢|

modo BASE-N (mg(1)).

*La base de cada sistema numérico se especifica py|.

sando una de las teclas a continuacion:

TECLA BASE
[oeg) Decimales
(@3] Hexadecimales
Binarios
Octales
*Gama de los célculos
BASE DIGITOS GAMA
Binarios 10 digitos
Positivo : 0=x=111111111
Negativo: 1000000000=x=111111111
Octales 10 digitos
Positivo : 0=x=3777777777
Negativo: 4000000000=x=7777777777
Decimales 10 digitos

Positivo : 0=x=<2147483647

Negativo: —2147483648=x<0
Hexadecimales 8 digitos

Positivo : 0=x= 7FFFFFFF

Negativo: 80000000 = x=FFFFFFFF
eNumeros validos en cada sistema numérico

BASE VALORES

Binarios: 0,1

Octales: 0,12 3, 45,6,7

Decimales: 0,1,2,3,4,5,6,7,8,9

Hexadecimales: 0,1,2,3,4,5,6,7,8 9, A,B,C
D . EF

*Para cada uno de los sistemas numeéricos, sélo se
pueden introducir los numeros que acaban de
mostrarse. En el caso de los hexadecimales, las letras
B y D se visualizan en minudsculas.

*No se puede especificar la unidad de medicién angu-
lar (grados, radianes, grados centesimales) o el for-
mato de la presentacion (FIX, SCI) mientras la
calculadora se encuentra en el modo BASE-N. Tales
especificaciones solamente pueden hacerse saliendo
primero del modo BASE-N.
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9/CALCULS EN BINAIRE, OCTALE,

~ DECIMALE, ET HEXADECIMALE

ioLeS conversions et les calculs binaires, octaux, déci-

| maux, hexadécimaux sont effectués dans le mode

J BASE-N (fd(T)).

lsiLes valeurs de base sont réglées en appuyant sur l'une
des touches suivantes:

TOUCHE BASE
Décimale
Heradécimal
Octale
+Plage de calculs
BASE CHIFFRES PLAGE
ginaire 10 chiffres

Positif : 0=x=111111111
Négatif: 1000000000=x=1111111111

Octale 10 chiffres

Positif : 0=x=3777777777

Négatif: 4000000000=x=7777777777
pécimale 10 chiffres

Positif : 0=x=2147483647
Négatif: —2147483648=x<0
Hexadécimale 8 chiffres

Positif : 0=x= 7FFFFFFF

Négatif: 80000000 = x =FFFFFFFF
+Valeurs valides

BASE VALEURS

Binaire: 0,1

Octale: 0,1,23,45,6,7

Décimale: 0,1,23,4,5,6,7,8 9

Hexadécimale: 0,1,2,3,4,5,6,7,8,9, A,B,C,
D,E F

*Des valeurs autres que celles notées ci-dessus ne peu-
vent pas étre entrées alors que chaque base respec-
tive est active. Les lettres B et D sont affichées en
minuscule pour la notation hexadécimale.

*Yous ne pouvez pas spécifier I'unité de mesure
d’angle (degrés, radians, grades) ou le format de I’ affi-
chage (FIX, SCI) alors que la calculatrice se trouve
dans le mode BASE-N. De telles spécifications ne peu-
vent étre faites que si vous sortez tout d’abord du
mode BASE-N.
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9/2 A /8 AL /10 EAL/ 16 ERLAIEHE

« 7 BASE -NkAE (ER()) ¥ 3147 2311/ 8 &4/ 10
/16 5 BAVRE

<R TAIMMIRLIR R R M AOMIE.

3 B2 {4
1031
[ [ s
2 AL
8 L
oE

| OB1L

E8 0= x= V1IN

&8 1000000000 x = LIEHITLIT

10881
E#: 0 x==3777777777
&85 4000000000< x=7777777777

|0 10T
E$ 0s r=2147483647
B8 —2147483648= x- 0
6L 8 AL
EH: 0= xSTFFFFFFF
B8 80000000 x=FFFFFFFF
« B {E
¥ HE
2 &ML 0.1
8 L 0.1.2.3.4.5.6.7
(Ko 0.1.2.3.4.5.6.7.8.9
| 6L 0.1.2.3.4.5.6.7.8.9.A.B.C.D.E.F

BT bk B R E 80 BB 2 SR BT A L0 B
BAIDEE LT 6B BETRMN T 5 FU
T E ML BASE -NARARES, S E RIS EAKBEN
B (. JE. BEAE) HBRER (FIX SCI %,
EB 1T LIS IRIE, LIBTEBASE-N K B8 BB
% ¥ RLET
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AIAT|TE BASE-N RS 0fl A 2t Ggt

9. 2%IH/8XIM/10Z7I /16X 2

i
02%Y

2
>
z 0%

/8T /10 /16X HlAtD} Bisje

AL TFOIA astol AL (Meg(T)) T
o0& Jixigie ° = Coslute sz
cgo«{g_x otelel F1Eh o 3L E s{F oz
(71 1)
1021
16218y
27
87
o Al AR 2
712 NESS ERd
2 10 Xl
%‘f:ogxgﬂﬂﬂﬂl
) &7 1 1000000000=x=1111111111
8 A 10 Al
%‘f :0=x=3777777777
&7 1 4000000000=x<7777777777
102 10 Xl
%kf :0=x=2147483647
57 0 -2147483648=x< 0
1621 8 xtalz=
25 - O=x=T7FFFFFFF
&7 1 80000000 = v =FFFFFFFF
IAEEAS
7|2 7F x| x|
22y 0,1
82 0,1,2,3 4,5,6,7
10718 0,1,2 3, 4,5,6,7,8,9
1621 0,1,23,4,5,6,7,8 9,A,B,C
D, EF '

‘floll M olelel #xl= 2t JlEEIYOo| M| AAls

of A=FoF 2ol Brsst.

S B2t Do BXt= 16X of
s 22X2 FAIE LU CH ol
oh J2HE) £z HAl FWE (FIX SCI
daelgiah
SXME aagle

|z22], 2folcy
| 222 X|
s Misted o2y

~— 10
n

aln
10
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9/PERHITUNGAN BINAR/OKTAL/ [ dadladll / LSUEN Glawadl Silatas /4
DESIMAL/HEKSADESIMAL e Dol sl /&yl
ePerhitungan dan konversi sitem binar/oktal/ Lol /Ll s R
desimal/heksadesimal dilangsungkan dalam mode /% Janladll /GUA Japailly Slesadl slilae elial o o
BASE-N (Meg(1]). (008 (1 ) BASE-N gl 3 nie Local il
eNilai basis diatur dengan menekan salah satu tombog| LI polill aad bicas ol aus -
berikut: ) pelall aal l...‘{!w Vas oo L:; .
TOMBOL BASIS > d
(o65) Desimal o rlaall (5]
() Heksadesimal P IRV )
) EN Binar o
[swr) (oc) Oktal Sl o &
eJangkauan perhitungan
BASIS DIGIT JANGKAUAN claadl sllae 5u0 @
Binar 10 sl Saeyl !
Positip : 0=x=111111111 ™ . -
Negatip: 1000000000=x=1111111111 L 5§ ags o 2R S
Oktal 10 " ,
Positip : 0=x=3777777777 w TYWWWWWW 2 X 2 ke cadl ) -
Negatip: 4000000000=x=7777777777 VWV 2 X 2t Sl
Desimal 10 vY\zvavaxz,M cagdl - sl
Positip : 0=x=2147483647 Ao > X 2 VVEVEATUEA- LI
Negatip: —2147483648=x<0 TFFFFFFF> X 2 o cagll A e guladd
Heksadesimal 8 FFFFFFFF > X > Ao - e ]
Positip : 0=x=7FFFFFFF
Negatip: 80000000 = x <FFFFFFFF aaaall sl o
eNilai yang berlaku aadl! k!
BASIS NILAI T ]
Binar: 0,1 VALY s e
Oktal: 0,12 3,4,5,6,7 LAV NN i Sl
Desimal: 0,1,2,3,4,5 6,78, 89 F.ED.C.BLAAAV A E.Y.Y N\ i S gl
Heksadesimal: 0, 1,2,3,4,5,6,7,89 A, B,C, d
D, E F

! s Loie L] (S Y el ,,S31 o pd aill o
Uatl 3D 4B Gigyall Loy ai 3Gl pdy 3 Lgw elall
e gl sl QU Gl il

*Bilangan-bilangan selain yang tertera di atas tidak
dapat dimasukkan jika basis yang bersangkutan masih
berlaku. Huruf B dan D ditampilkan dalam huruf kecil

pada sistem heksadesimal. ciuad Lyl colapall) gl Gubidll Sasy aaad oliSa ¥
* Anda tidak dapat menentukan satuan pengukuran an- | a2 ¢GS1 (SClLFIX) jasall paaias of (H1aas¥) olaya &k
gular (derajat, radian, grad) atau format display (FIX, 13kais ol wasdll 63 Jae (Sasg . BASE-N wayll 3 Lttt

SCI) ketika kalkulator berada dalam mode BASE-N.
Perincian semacam ini hanya dapat dibuat jika anda
keluar dahulu dari mode BASE-N.
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9-1 Binary/octal/ decimal/ hexadecimal
conversions
9-1 Conversiones binarios Joctales / decimales/
hexadecimales
9-1 Conversions binaires/octales/ décimales/
hexadécimales
9-1 2#ML/8 iE{ﬁ/lOiEﬁ/lﬁ%E{ﬁ&ﬁ
9-1 2&%‘/8’&%/10&‘2/162‘_‘%‘;9—! ok
9-1 Konversi binar | oktal / desimal/
heksadesimal
[ &l asddl u_}-‘d;@é:"" oldas \ -4
J\.i’as E._wa\.\u-\‘/i.y&&l/@hﬂl
@@®(1) (BASE-N mode) (Modo BASE-N)
(Mode BASE-N) (FEPKRE) (BASE-N 2c)
(mode BASE-N) (BASE-N pa))
Conversion of 22,4 to binary
Conversion de 22,4 a binario
Conversion de 22,4 en binaire
522,10 B R R
22010812 2TYR LRI
Konversi 2210 ke binar (basis dua)

Lo Tl J) Y 2anll JapaS

m2zemm____ 10110.]

Conversion of 22,4 to octal
Conversion de 22,4 a octal
Conversion de 22,4 en octal
1922, AR SELL

2201088 BTUR oigh
Konversi 2210 ke oktal (basis 8)
Lolall Ledlh 41 2 YY saadl Jagas

ma 267
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Conversion of 22., t i
i0 10 to hexadecimal
Conversion de 22,, a hexadecimal
Conversion de 22., en h éci

10 exadécimal
522, 1RB K 165 1L
2(10X1)E I6XIw 2 o5t

Konversi 2210 ke heksadesimal (basis 16)
e Load et el ) 4 YY Saall Jogas

I T

Conversion of 513,, to binary
Convers!én de 513, a binario
Conversion de 513,, en binaire
15513,03R B A 25 1L
SIB(I0TIR) S 2 X1 ¥zt
Konversi 51310 ke binar
TN TIVTINERS SRR

ws13mm € 7]

s . .

ﬁg:vr::‘mzn rfnay sometimes be impossible if calcul
ge of original value is greater th of

reuslt value. an range of

+

Algunas veces las conversiones son imposibles si la

gama de caélculo de un valor origi
r origi
gama del valor del resultado. gial es mayor que fa

*La conversion peut quel i i
quefois étre im i i
galmme de calcul de la valeur originale e;o:snbée_ e
a gamme du résultat. Hperieure
HEHERABEXERR il ;
= ﬂ‘ [ 7
¥ R RRE R E A MIER A

ol

el

o el ThxIgiel Hlae 97
@ Bl 7ix SHERIL A Z Do) )k
(eols, 2= waol BrisY m;i'o‘s”xmiq #

*Konversi kadang-kadang ti

K . g tidak mem i ji

?ngkauar) perhitungan nilai mula»mt:jlggllgtr:i';\a’l; 2
aripada jangkauan nilai hasil. esar

Uaall 50 OIS 13} Jopadlly pLall Blaal sl 0 (5 S, 3

- - - . N 2

ERCHTE NIV < @Ayu@:‘ui )
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Conversion of 7FFFFFFF,4 to decimal
Conversién de 7FFFFFFF ¢ a decimal
Conversion de 7FFFFFFF,¢ en décimal
B IFFFFFFF RE R 0ES
TFFFFFFF (16X1) 8 10212 wgh
Konversi 7FFFFFFFF, s ke desimal
Lpzall danddl J) TFFFFFFF 16 Jugas

@ 7FFFFFFF @[ 2147483647 ¢

Conversion of 40000000004 to decimal
Conversion de 40000000004 a decimal
Conversion de 40000000004 en décimal
1%40000000005 #% 3 5% | 0 5E i

4000000000 ( 8 X)) E 10ZIH2 Heh
Konversi 40000000004 ke desimal
Gl Tailh P af e Jusa3

@D 40000000000 — 536870912, ¢

Conversion of 123456, to octal
Conversién de 123456,, a octal
Conversion de 123456, en octal
1512345610 1R B AL 81

123456 (10Z1E)E 8ZY=R W2k
Konversi 123456,, ke oktal
Loladll Lasdll 410 VYYEON figas

(069 123456 [ @) 361100. °

Conversion of 1100110, to decimal
Conversién de 1100110, a decimal
Conversion de 1100110, en décimal
A511001 10,3 B | OERL

1100110 (2ZH)E 10TH2 Heh
Konversi 1100110, ke desimal
Lpdadl Lanill 31 VYooV e

Emem1100110@[  102.7]
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9-2 Negative expressions
9-2 Expresion de valores negativos
9-2 Expressions négatives
9-2 AHPRRE
9-2 S5 EA|
9-2 Ekspresi Negatif
bl paandl Y -4

+Negative values can be obtained by pressing the g
key. The two’s complement is produced for negation
of binary, octal, decimal and hexadecimal values.

«Se puede convertir el valor visualizado a su equiva-
lente negativo presionando la tecla {veg. EI complemen-
to de dos se produce para la negacion de valores
pinarios, octales, decimales y hexadecimales.

eDes valeurs négatives peuvent étre obtenues en
appuyant sur la touche M. La négation de valeurs
binaires, octales, décimales et hexadécimales est
exprimée en utilisant le complément de deux.

o FIIR MY RATLUSFI A MMM, BLIE 2 M/ 8E
{0/ 1 0L RD | 631 RO B .
@IS sESRM 59 -
27 /8Tl /10T /16T 2

2570 FoiE.

eNilai negatif dapat diperoleh dengan menekan tom-
bol 9. Bilangan pelengkap kedua nilai dihasilkan ba-
gi negatif dari nilai-nilai binar, oktal, desimal dan
heksadesimal.

L g - M el sy WL Ladll Je Jpeaadl (S +

Ll oLl SN sl Joand Lol oSt saall

Gl pde Gualadly

() (BASE-N mode) (Modo BASE-N)
(Mode BASE-N) (X $iX#E) (BASE-NREZ)
(mode BASE-N) ( BASE-N p.,lt)
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Negation of 1010,
Negativo de 1010,
Négation de 1010,
1010,AHK

1010 (2 Zig)el ol x|,

Negatip dari 1010,

Ll VY- sl
@Em 10106 1111110110 7)

Conversion to decimal
Conversién a decimal
Conversion en décimal
JRE 0L

10xIg 2 giEh
Konversi ke desimal
Lriall Lasilh 3] sl

Negation of 1,
Negativo de 1,
Négation de 1,
(PL:00=% it
27y
Negatip dari 1,
Ll v Lol Jaal

o| gHeh x|

Emem 1w 11111111117

Negation of 2g
Negativo de 24
Négation de 24

2K AK

2 (8ZIYg)el el x|,
Negatip dari 2g
L aY Zasill Jna ]

@D 2| 7777777776.°
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Negation of 34,4
Negativo de 34,4
Négation de 34,4
34,6 AM

34 (16ZIg)ef vhoh x|,
Negatip dari 34,4
Ll 0 TE Ll Jas)

34 FFFFFFCC. "

9-3 Binary /octal/hexadecimal conversions

eMemory and parenthesis caiculations can be used
with binary, octal, decimal and hexadecimal number
systems.

9-3 Calculos con binarios/octales/decimales/
hexadecimales

e[ 0s calculos con memoria y paréntesis pueden usar-
se con los sistemas de numeros binarios, octales, de-
cimales y hexadecimales.

9-3 Calculs binaires/octaux/décimaux/
hexadécimaux

*Vous pouvez utiliser des calculs avec mémoire et
entre parenthéses avec des systémes de nombres
binaires, octaux, décimaux, hexadécimaux.

9-3 23EEML/BERI/10ERL/ 16 ERETR

O 7L 2L/ 8L/ 0L/ 16 EM R Y RAVET B RS A LU
£ R B TFISR0ES .

9-3 2T /8T /10T /1612 AH|AHH

0 2T/ 8 RIW/I0AIR/ 1681 S| 23} wWAGIME e
HAD| 2 E A A0 TS B

—141- V¢



9-3 Perhitungan binar/oktal /desimal/
Heksadesimal

*Perhitungan memori dan tanda kurung dapat dj
gunakan dalam sistem bilangan binar,oktal, desiper
dan heksadesimal. mal

/&_).‘.\.'..‘m 5.4:\3.“ uLuQCJLt.LAL_ Y-q
s %wlw.ll/ﬁ.n@ l/&._a;La.‘m
ALY Lkt e Lul o891 5,51 Dleaa Slilae aladan) g
e Tl el Ll L Sl um
Moog (1) (BASE-N mode) (Modo BASE-N)

(Mode BASE-N) (Z #fikhE) (BASE-NZ <)
(mode BASE-N) ( BASE-N xasll)

10111,+11010,= 110001,
@EN10111€31101083

*

110001.%

123, x ABC,, = 37AF4,,

=228084,,
e 123E3EIABCE 37AF4 +
5] 228084, d‘
1F2D,, - 100,,=7881,,
=1EC9,,
M1F2DE@E@ 1008 7887 7
@ 1EC9.¥
7654, +12,,=334.3"""10
=516,
7654@m@128 3347

*Fractional parts of calculation results are truncated.
*Las partes fraccionarias se redondean por defecto.

*Les parties fractionnaires des résultats de calculs sont
tronquées.

—-142 -\ ¢Y

rﬂ}
FEEROIUBHE IR
s pETEel AR EE HALEICH

sgagian pecahan dari hasil perhitungan dibuang.
Ngsia s Slaad! Dilae w5l Laladl Sl elyal

110, + 4564 X 78,0+ 1A, =390,
=912,

& 110 EIEDE) 456 EIE
78s@®m1AB[ 390."

@| 912.¢

+Multiplication and division are given priority over ad-
dition and subtraction in mixed calculations.

+n los célculos combinados, la multiplicacion y divi-

sion se proporcionan precedentemente sobre la su-

ma y resta.

«La multiplication et la division ont priorité sur |"addi-

tion et la soustraction dans des calculs mixtes.

. zﬁ?%ﬁﬁﬂﬁiﬁii*ﬂﬁﬁii%ﬁﬂﬂiﬁ*ﬂﬁii&%‘ﬁ‘ﬁ

cofef Alatol Eetslof oA uf cidnb Wlsch SRt
Lisatlo] fadetot.

+perkalian dan pembagian memperoleh prioritas
terhadap penjumlahan dan pengurangan dalam
perhitungan campuran.
el Sllar e B g 0y Ll opll Slodee 0
) JALkal) Ol cblee 3 £kl
BC,s X (14,4 X 69,,)= 15604,,
=3CF4,¢

@BCR™ 1463698 15604. °|
(HEX) 3CF4. "
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23,+963,,=982,
23,+101011,= 111110,
2A56,, % 235 = 32462,
EnE 23MmERE 9638
FEIENE 1010118
@2A56E3WEa

9-4 Logical operations

eThe (@), [0), (98, and [ keys can be used to per-
form the respective binary, octal, decimal and hex-

adecimal logical operations.

9-4 Operaciones l6gicas
eLas teclas @9, (08, (99, y @) pueden usarse para

realizar las operaciones l6gicas binarias, octales, de-
cimales y hexadecimales respectivas.

9-4 Opérations logiques

eLes touches @9, ©R), (98, et (@) peuvent étre utili-
sées pour effectuer les opérations logiques binaires,
octales, décimales et hexadécimales respectives.

9-4 BEEIR(F
o). (o8] R K0 () 3% g = LA E R BRI 2 L. 8
AL l0;§1ﬁiu|6;§_1ﬁa’axﬁﬂf'ﬁ2ﬁie

9-4 =21¥ 7|S

‘@9, O, @A, (w8, Fzise M2l 2TY, 8 ZI™, 10
xw, exigiel =2l =xtofl AtEslol A

9-4 Operasi Logika

eTombol-tombol @8, @, [@8, @) dan dapat diper-
gunakan untuk operasi logika pada masing-masing
sistem binar, oktal, desimal dan heksadesimal.

dalant M_'““‘QLM_ ¢ -9

Y [0 . 06 B sl plastal (Se e
Ll Ll SN padll ikl Sl oUles
S,BLLY e Tl andly
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Fmg(1]) (BASE-N mode) (Modo
BASE-N
(Mode BASE-N) (E-#ikae) (BA)SE'N 2c)
(mode BASE-N) (BASE-N oyl
19, AND 1A,,=18,,

CR P —

1110, AND 36;=1110,

EEm 1110 @EDE) 366 16.°
1110. °|

238 OR 618: 633
@m@23@me @ 63.°]

120, OR 1101,=12D,

@]120@1101E| 100101101. °
{0 12d. "

5,6 XOR 3,5=6,¢
msmea 6]
2A,; XNOR 5D, =FFFFFF88,,

@2AFS5DE FFFFFF88. "

1010, AND (A,, OR 7,,)=1010,
EDEN 1010 @MEEA

®7E8 A"

1010.°

1A,; AND 2F, =A,,
38,, AND 2F,, = 2B,,

T D2FE@m1AR
388

2b. "
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NOT of 10110,
NOT de 10110,
NOT de 10110,
10110, #INOT

10110,2l NOTE?
NOT dari 10110,
A\ - 2aslINOT

EMEN 1011060 1111101001.*

NOT of 1234,
NOT de 1234,
NOT de 1234,
1234, BINOT
1234521 NOTE?
NOT dari 1234,
AYTE LesliNOT

snm 1234 777177765437

NOT of 2FFFED ¢

NOT de 2FFFED,¢

NOT de 2FFFED ¢
2FFFED, HINOT
9FFFED;e2l NOTE?
NOT dari 2FFFED,¢
OFFFED16 4aaliNOT

@ 2FFFED &) FFd00012y. "

.
(A

NSTANTS
10/ PHYSICAL

i i ory and em:
*g physical constants are stored in mem
plgy;d using the following sequence In the COMP
mode.

@ n (n=1~9

—146—- V¢

oPress [)(1] to display the value of ‘Speed of
light in vacuum (c)”" — 299792458 (ms~1).
oPress [M(Z] to display the value of ‘‘Planck con-
stant(h)’’ — 6.626176x 10734 (J.S).

+Press B3] to display the value of ‘‘Gravitational
constant (G )" ~ 6.672x 10~ " (NmZkg~2).

oPress [)(@] to display the value of ‘‘Elementary
charge fe)” — 1.6021892x 1019 (C).

+Press @)(5) to display the value of '‘Electron rest
mass (me)”’ — 9.109534x 103" (kg).

oPress (€] to display the value of “*Atomic mass
unit(u)”’” — 1.6605655x 10~27 (kg).

oPress (7] to display the value of ‘’Avogadro
constant (Na)’ — 6.022045x 1023 (mol~").

+Press B8] to display the value of ‘’Boltzmann
constant (k)"" — 1.380662x 10-23 (J.K~ ).

oPress [)(8) to display the value of ‘‘Molar

volume of ideal gas at s.t.p. (Vm)"' —
0.02241383 (m3mol-').

*The values of these physical constants are based on
JIS Z2-8202-1978. (JIS = Japan Industrial Standards)

10/CONSTANTES FISICAS

— {x-570AV/570CV /991V

+*Se almacenan 9 constantes fisicas en la memoria y
se emplean usando la siguiente secuencia en el mo-
do COMP.

g n (n=1~9)

+Presione (1) para presentar el valor de la
“Velocidad de la luz en vacio(c)"" —
299792458 (ms~').

+Presione (2] para presentar el valor de la
“Constante de Planck (h)"’ —

6,626176 x 10734 (J.S).

wPresione BM(3) para presentar el valor de la
“Constante gravitacional (G)"' —

6,672x 10~ 1! (Nm?kg~?2).

sPresione BHf)(4]) para presentar el valor de la
“Carga elemental (e)”" — 1,6021892x 10~ 1'% (C).
wPresione BM(E) para presentar el valor de la
"Masa de electrén en reposo (me)’’ —
9,109534 x 103" (kg).
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ePresione [#f)(6) para presentar el valor de la
"‘Unidad de masa atémica(u)"' -
1,6605655x 10 27 (kg).

*Presione para presentar el valor de la
““Constante de Avogadro (N.a)"" —
6,022045x 1023 (mol ).

ePresione para presentar el valor de la
"‘Constante de Boltzmann (k)" —
1,380662x 10 23 (J.K-1).

ePresione (M) (9) para presentar el valor del **Volumen
molecular del gas ideal a presion y temperatura nor.
male (Vm)'' — 0,02241383 (m3mol ).

*Los valores de estas constantes fisicas se basan en
la normal JIS Z-8202-1978 (JIS = Normas Industriales
Japonesas)

10/CONSTANTES PHYSIQUES

— fx-570AV/570CV /991V

*9 constantes physiques sont sauvegardées dans la
mémoire et employées en utilisant I'ordre suivant
dans le mode COMP.

n(n=1~9)

® Appuyer sur pour afficher la valeur de
“Vitesse de la lumiére dans le vide (c)” —
299792458 (ms~').

e Appuyer sur (2] pour afficher la valeur de
“Constante de Planck (h)" —
6,626176x 10 ** (J.S).

* Appuyer sur B)(3] pour afficher la valeur de
"“Constante de gravitation(G)" —
6,672x10 ! (Nm2kg~2).

e Appuyer sur B)(4] pour afficher la valeur de
““Charge élémentaire (e)”" —
1,6021892x 10 " (C).

e Appuyer sur @(5] pour afficher la valeur de
““Masse au repos de |'électron (me)"”’ —
9,109534x 10 *! (kg).

® Appuyer sur @)(6) pour afficher la valeur de
“Unité de masse atomique (1)’ —
1,6605655x 10~ %7 (kg).

* Appuyer sur pour afficher la valeur de
“‘Constante d'Avogadro (Na)" —
6,022045x 10> (mol ).
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«Appuyer sur BH(8) pour afficher la valeur de
~Constante de Boltzmann (k)" —
1,380662x 10” % (J.K-1),

«Appuyer sur B8] pour afficher la valeur de
“Volume molaire de gaz idéal a p.t.s. (Vm)" —
0,02241383 (m3mol~1).

*Les valeurs de ces constantes physiques sont basées
sur la norme JIS Z-8202-1978 (JIS = Normes Indus-
trielles Japonaises)

10/49I2H B — x-570AV/570CV/991V
A EMERNEGELERR, £ COMP KA
T BB RO HHE A

n(n=1%9)

® 3% (D) MUBER H "EERANRE(C)" 1l
299792458

0 3% F(2) WBE TR H "TEBEER (M) AE
o 6.626176X107

@iz BME) MEETR Y "EHEB(G)" WA
 6.672X107M

o 3% mm (@) WBE TR "EBFER ()" B
—1.6021892X 107°

o EME LBETRE "EBFHFEEE (me)” #IE
—9.109534X 1073

o EME) IUBERH “HEFEAREM (u)" BB
1.6605655X 1027

——6.022045X%102°
o 3% B (8) LBETRH "RBERSHH (k)" @
———1.380662 X 10723
o i mn (e MUBER Y "HEAME, 7Estp2EHERE
(Vm)" B0 ——0.02241383

L EEMIEEMEI LIS Z-8202- 1978 BX B &,
(JIS=BAXRITEEZEE)
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A |

M A

T9vtRlel 22l a5t ZIAdF X0l XA E0, COMPy 4
o2 3to] otefet 22 TAME AISEICH

En (n=1~9)

emM(A]) 718 Fau, "HIMefRolMe el F5(c)
Cx|7F BAIET 299792458 (msT!)
emA(2)7IE8 FaH, "Zazg M)
6,626176X 1073 (J.S).
o3 7S F2u,
6,672X 10711 (Nm2kg™2),
o M(a)7IE T2, "ol Msi(e)" X7} HAIY,
1,6021892% 1071 (C).
o W(5)71E T2, "HMX HMXEU(Me)" X7} HAlY,
9,109534 X 1073 (kg).
e @mME)7IE F=o, "R =Eact
1,6605655X 10727 (kg).
e BM(Z)7IE T2, "ol2IT 2 HF(NA)" X7} FAl
. 6,022045X 102 (mol™!),
e @)(8)7IE T2, "BEQ HE(k) X7t EAIE.
1,380662X 10723 (J.K™1),
o M(8)7IE T2, "s.t.¢ (Vm) MEHOIlA] O|ATtAQ|
Eat" x|7b BEAIE.  0.02241383 (m*mol~!).

— fx-670AV/570CV/991y

x2F BAIE,

TOx|2F BEAIE.

I(u)" xI7F BAIE,

rolg{st 22(X
st (JiIs=g&

10/ TETAPAN-TETAPAN FISIKA

— fx-570AV/570CV/991V

*9 tetapan Fisika tersimpan dalam memqri dan diman-
faatkan sesuai dengan urutan berikut ini dalam mode
COMP.

n(n=1~9)

eTekan B3] untuk menampilkan nilai “Kecepatan
cahaya dalam ruang hampa (c)” — 299792458
(ms™"). ] o

eTekan E(2) untuk menampilkan nilai “'Tetapan
Planck (k)" — 6,626176x 1034 (\‘LS);‘

eTekan [#7)(3) untuk menampilkan nilai Teztapan
gravitasi (G)"” — 6,672x 107" (Nm2?kg~?).

x|

o4
==

S£2 JIS-Z2-8202-19782 7|20z
7).

—-150— Vo

sTekan [(4) untuk menampilkan nilai “Muatan
elementer (e)” — 1,6021892x 10~ '9 (C).
eTekan B#)(8) untuk menampilkan nilai “Massa
diam elektron (me)” — 9,109534 x 10-31 (kg).
eTekan E(E) untuk menampilkan nilai ““Satuan
massa atom (u)"” — 1,6605655x 10~27 (kg).
eTekan (7] untuk menampilkan nilai “Bilanqan
Avogadro (Na)” — 6,022045% 10~23 (mol- ).
eTekan [)(8) untuk menampilkan nilai “*Tetapan
Boltzmann (k)" — 1,380662x 10-23 (J.K-1).
eTekan ()8 untuk menampilkan nilai “Volume
molar gas ideal pada keadaan standar s.t.p (Vm)"”
— 0,02241383 (m3mol-1).

*Nilai tetapan-tetapan Fisika ini berdasarkan pada JIS
Z-8202-1978. (JIS = Standar Industri Jepang)

LLyaddl Cual gt/ )
fx-670AV/570CV/991V —
KRR U PRECWRTE SRV L P W SCW ALY O CFUIRTUE
. COMP il
[
(-V=n)nER
eyl Lepn” Lo Lo, (D) F Ll s )
(LB eale) YAAVAYEOA =" (¢ ) £ 1,all 3
SR ) Y sl s ey (2B Ll sl e
(&G Jsa) TV x LAYV
S (G) rdlall Sl e Lol (BB ¢ Lsal) ki)
RS/ Te oaem) Ve x VY
Bad) LY Tl " Lad Loyl @A) il bas) o
A(hsS) N AT YNARY (T ) (g SN
ESLdl 5 AV TS s aya! (B () ¢ LSl b i)
(paS) TV x84, 10T E — Y (me)
S (U) LA A Baay ! Laus aye) (B)FH) Gl ki)
A(paS) YV x Voo
= (NA) aolasil 2ul ™ Tass ol [T BAA) £ Gl Lass)
(seloaesia/Y) Y X, YY g0
S (k) Ol Sl e ool (8] ) £ LSl biu)
(O Jsa) TV x VYA Y
sl Snall Dosll aan ! Laid ya,al (B) FAFY) Ll bis)
= (Vm) oleadl bially &0 all Lays aie JUALN SLaL
(sola esia/Ta) o  YYENYAY
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‘1

Laad JIS Z-8202 Lunslill o &Uydll oulgil) 038 aid aaie’
(UL Leliall junlall = JIS ) \avp

1. Speed of light in vacuum (c) v

Ex.) Obtain the energy when a substance having ,
mass of 2 g is consumed and completely convert.
ed to energy.

1. Velocidad de la luz en vacio (c)

Ej.) Obtener la energia cuando un sustancia que tiene
una masa de 2 g se consume y Se CoOnvierte
completamente en energia.

1. Vitesse de la lumiére dans le vide (c)

Ex.) Obtenir de I'énergie quand une substance ayant
une masse de 2 g est consommée et entiérement
convertie en énergie.

. AESREAE(c)
fl) HKXKELEERR 2eME TR B, BERASR
Bz AclfE. )

. RIS aEfTollMel Wel S5(c).
B) 202 B&AS JIXls ML 2820 H uel, 2AXs3|
ol ix| 2 gatElo] & ujel olHXIE FSHAIL.

1. Kecepatan cahaya dalam ruang hampa (c)

Contoh) Jika sebuah materi bermassa 2 g seluruhnya
diubah menjadi energi, dapatkan energj
tersebut.

(€) LAl 3 epdll depu )

Lebipady Lot o3 an ¥ LEES Salo e &3l Bl sayl (Jlie
L JIL Bl )

2@ 3@RAEEO®8|_1.797510357*
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| 9. Planck constant (k)
l gx.) Obtain the energy lost when an atom gives off one
| photon with a wavelength of A=5.0x 10 'm.

2. Constante de Planck (k)

gj.) Obtener la energia perdida cuando un atomo entre-
ga un fotén con una longitud de onda de
A=5,0x10""m.

2. Constante de Planck (k)

£x.) Obtenir I’énergie perdue lorsqu’un atome émet un
photon ayant une longueur d’onde de
A=5,0x10""m.

2. REAEEM(h)

) B—EEFREE—EEE A=5.0X 10 maIKF
Eve 7 ST

zeta Hsh.

AXp7} AGE S K|LE ob FF (el ol X|:photon)
gist wf oB|ElE oKXl S FSHAIR.

9. Tetapan Planck (h)

Contoh) Carilah energi yang hilang ketika sebuah atom
melepaskan sebuah protonnyg dengan pan-
jang gelombang A=5,0x 10" ‘'m.

(h) by ol Y
Jab 33853 e aaly Gsisd 3l Lesie 35aal) Gl angl (JGe
* ase

e Ve x o0, =
AEREDE5@708[  3.97295518 °

3. Gravitational constant (G)

Ex.) What is the force of attraction of two people
weighing 60 kg and 80 kg separated by a distance
of 70 cm?

3. Constante gravitacional (G)

Ej.) ¢Cudles la fuerza de atraccion de dos personas que
pesan 60 kg y 80 kg separados por una distancia
de 70cm?
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3. Constante de gravitation (G)

Ex.) Quelle est la force d'attraction de deux persop,
pesant 60 kg et 80 kg séparées par une distan S
de 70 cm? nce

3. ENEMG)

) —1AA&E60kgF080ke, 'Zé‘f@{HEEShOchE;l
By, HUKHIERSD,

3. 58 HF$(G)

B1) 70om ol 2ol e SRt 60xgay
80kgR w, F Al2RIol| X Rsts Qe %D}*E,'lem

3. Tetapan gravitasi (G)

Contoh) Berapa gaya tarik-menarik antara dua or
yang berat badannya 60 kg dan 80 kg y
terpisah dalam jarak 70 cm?

ang
ang

(G) Lwdladt oyt v
Gledly aaS Aty aaS Ve Lagldyy Guasad \,.J;AAS\,;BU.A-L, (Jba

ENEEE0E80E0.7@E[ 6.5358367357]

4. Elementary charge (e)

5. Electron rest mass (me)

Ex.) Obtain the sustained force and acceleration of
electrons between two parallel electrodes 3 c¢m
apart when a voltage of 200 V is applied.

4. Carga elemental (e)

5. Masa de electrén en reposo (me)

Ej.) Obtener la fuerza sostenida y la aceleracion de los
electrones entre dos electrodos paralelos separa-
dos en 3 cm cuando se aplica una tension de 200
V.

4. Charge élémentaire (e)

5. Masse au repos de I'électron (me)

Ex.) Obtenir la force entretenue et I'accélération
d’électrons situés entre deux électrodes parallg-
les distantes de 3 cm lorsqu’une tension de 200
V est appliquée.

—154—-\o¢

4. BFER(e)

5. EBFFEHEE (me)

§l) 1£FA200V BRERSAAEE 3 o) = FTBF KIS
MMEER S ?

o Bael Tstae).

5 M HEIEE (me).

) 2002 E2] H2io] M=ol W wf, 3om WOIX U=
2oHel HHE M3 AOloIA QOfXlE HAte| Jh&

o RSB FHAIR.

4. Muatan elementer (e)

5. Massa diam elektron (/me)

Contoh) Berapakah gaya penahan dan percepatan
elektron-elektron antara dua elektroda sejajar
berjarak 3 cm jika diberikan tegangan 200 V?

(€) (A Baz) LhYI Bl ¢

(me) LSLl Gy S S L0

(cr3) S L SLs SN oLy dagh ) 3,31 a2l (JGe
Yoo Lapad Gllyd Bakd sie pe T Lagiy Slodl oojlste
Ll

FM@EI200630.0363( 1.068126133™"°
amEe| 1.172536524 °

6. Atomic mass unit (u)

Ex.) The mass of a hydrogen atom is 1.00783am_u and
the electron mass is 1/1800 of this. What is the
proton mass?

6. Unidad de masa atémica (u) )

£j.) La masa de un &tomo de hidrogeno tiene
1,00783amu y la masa del electron es 1/1800 del
mismo. ;Cudl es la masa del proton?

6. Unité de masse atomique (u)

Ex.) La masse d’un atome d’hydrogéne est 1,00783
amu et la masse de I'électron est 1/1800 de cette
valeur. Quelle est la masse du proton?
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6. BFFHEBEAM(u)
) SEEFHERL1.00783amu
FF¥EBIZH /1800, RKHBEFHEE.

6. HAL AACHe (u),
B1) T4 fIXpe] &ato| 1.00783amuo| 1, HXd™ato) 5
el 17180094, OlF Ao UXN(EgE) Mate,

6. Satuan massa atom (u)

Contoh) Massa sebuah atom hidrogen adalah 1,0078
sma dan massa elektron adalah 1/1 800-nya.
Berapakah massa proton?

() il B 5ua,

Sy 03 WS Saayg Vo0 VAT o s pa gl 8550 WS (Jba

¢ Ostoll S oo Lo ARSI B 5o N /VAT S e g K

1.00783@1.0078363

1800(0EIEM(6)EI| 1.6726379687

7. Avogadro constant {N.)
Ex.) Obtain the mass of one molecule of water.

7. Constante de Avogadro (N.)
Ej.) Obtener la masa de una molécula de agua.

7. Constante d’Avogadro (N4)

Ex.) Obtenir la masse d’une molécule d’eau.
T. SEERINBREL (Na)

Bl) Bk L EADFHER

7. otBItE g HMP(N1),

B) S2 g¥xie a2

FEIAIR.

7. Bilangan Avogadro (N.1)
Contoh) Carilah massa sebuah molekul air.

(N1) solasl culi v
salyebo s rn S aayl (s

18@ED(78|_2.98901785 %
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8. Boltzmann constant (k)
£x. Obtain the average translational motion energy of
one molecule of ideal gas at 0°C.

8. Constante de Boltzmann (k)
gj.) Obtener la energia de movimiento de traslacion
promedio de una molécula del gas ideal a 0°C.

8. Constante de Boltzmann (k)
g£x.) Obtenir I’énergie moyenne de mouvement trans-
lationnel d’une molécule de gaz idéal a 0°C.

8. KEBHEFEH (k)

f) SRS | EERRRAESFEOCEHNTHERED
BaE

g WECH M (k).

) 0COllALl oM Jpaol 1g B X0 sl EEstE 2
BOUIR|o] M 2 A| 1 T olAlR,

8. Tetapan Boltzmann (k)
Contoh) Carilah energi kinetik translasi rata-rata sebu-
ah molekul gas ideal pada 0°C.
(A ) Dbl =6 A
JEe L e aaly e s had Haiugill LIEDYT IS, Gl aayl (Jte
Lsre a0 Hdue 2ic

32BN (3)EI2738| 5.653810897%

9. Molar volume of ideal gas at s.t.p. (Vm)
£x.) How many molecules exxst7per ccin a vacuum at
0°C at a pressure of 10 'mHg?

9. Volumen molecular del gas ideal a presion y tempe-
ratura normal (Vm)

£j.) ;Cuantas moléculas hay por cc en vacio a 0°C y
2 una presion de 10 ‘mHg?

9. Volume molaire de gaz idéal a p.t.s. (Vm)
£x.) Combien de molécules y-a-t-il par cm® dans un
vide & 0°C a une pression de 10 'mHg?
9. TEstp IR EEE (Un)
) 0°C, 1077 mHg FBEEE | oo U RIET LR RS L&
¥
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9. s.t.pAefTFolAe o™ Ztaol HE(Vm),
B1) 1077mHg &S AEf FollA, £8F 0°C2 TSHEHolly &
cc®t ExfstE OlEXe A= ATt ?

9. Volume molar gas ideal pada STP (Vm)
Contoh) Berapa banyak molekul tiap cc dala;n ruang
hampa pada 0°C dan tekanan 10~ "mHg?

haially3,lall &0 sie JBU G aladl Snadl G5sll aas 4
(Vm) Gsplaalt
o e §158 3 caSl el 35asall Sluyadl sac o (Ja
€30 Jao 'V o)ad laidy Sghe da 0

@7 AN E 760 E3
6MmDEEEE)| 3535202784,

11/FUNCTION CALCULATIONS

Scientific function keys can be utilized as subroutines
of four basic calculations (including parenthesis calcuy-
lations).

*This calculator computes as 7= 3.141592654 ang
e=2.718281828.

*In some scientific functions, the display disappears
momentarily while complicated formulas are being
processed. So do not enter numerals or press the
function key until the previous answer is displayed.

*You cannot specify the unit of angular measurement
(degrees, radians, grads) or the display format (FiX,
SCI) while the calculator is in the BASE-N mode. Such
specifications can only be made if you first exit the
BASE-N mode.

*For each input range of the scientific functions, see
page 15.

11/CALCULOS DE FUNCIONES

Las teclas de las funciones cientificas pueden ser

empleadas como subrutinas en cualquiera de los cuatro

céalculos basicos (incluyendo los calculos entre pa-

réntesis).

*Esta calculadora computa como 7= 3,141592654 y
e=2,718281828.
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*En algunas de las funciones cientificas, la presenta-
cion en pantalla desaparece por algun instante
mientras se estan procesando formulas complejas, de
manera que no se deben entrar numerales o presionar
otras teclas de funciones hasta que aparezca la res-
puesta previa.

*No se puede especificar la unidad de medicién angu-
lar (grados, radianes, grados centesimales) o el for-
mato de la presentacion (FIX, SCI) mientras la
calculadora se encuentra en el modo BASE-N. Tales
especificaciones solamente pueden hacerse saliendo
primero del modo BASE-N.

*Remitirse a la pagina 32 para cada gama de entrada
de las funciones cientificas.

11/CALCULS DE FONCTION

Les touches de fonction scientifique peuvent étre uti-
lisées comme sous-programmes des quatre calculs élé-
mentaires (y compris les calculs avec parenthéses).
*Cet appareil calcule avec 7=3,141592654 et
e=2,718281828.

*Avec certaines fonctions scientifiques, I'affichage
disparait momentanément tandis que des formules
compliquées sont traitées. Il ne faut donc pas entrer
de nombre ou appuyer sur une touche de fonction tant
que la réponse précédente n’est pas affichée.
*Vous ne pouvez pas spécifier I'unité de mesure
d’angle (degrés, radians, grades) ou le format de I"affi-
chage (FIX, SCI) alors que la calculatrice se trouve
dans le mode BASE-N. De telles spécifications ne peu-
vent étre faites que si vous sortez tout d’abord du
mode BASE-N.

*Pour la gamme d’entrée de chacune des fonctions
scientifiques, voir page 51.

(NRRESE -
HEEHRITUSKHAUEXETE(REERAB INOTF
i2FER
c RETEMAETEES 1 =23.141592654 Bt

¢ =2718281828
CHEFRLEHBEY, SETRBAOANTEREHIETR

| —159—- 104



BEMEEENERRE EHBREATERAKMENR
BEMENR BINBTRBVLUBESL

. EEHEARTE BASE NAKHERS, BEZIEEREAEY
g (. AE. BORE) BETRER (FIX, SCI) ¥,
(T A0IE T R, LB TE BASE NAREERERR
% ¥ ElET

BB ENARAREZZR68R

Dparal prae J157lE 471R JIEANML MESE (%
)

og AISE.

stay BEEAIAOI A &, B RS SOl #eH XD s
Bhe AAl AL 0% WRoll, ol ol Eg
S Aol SHEOl LIS WX AR I RXE AHAITIN
L BEFIE meiAME HE.

SHIAZ|T) BASE-N R EoiAf s ZHachel (Clae 2ol
of, Qi) L= HAl FUME (FIX. SC) 2 LREE X
xMapagiguch 91X BASE N2/ RS ofHStel Ol
CFRIH e e AU
ALYl & YT

capet A

11/PERHITUNGAN FUNGSI

Tombol-tombol fungsi matematika dapat digunakan se-
bagai subrutin dari empat perhitungan dasar (termasuk
perhitungan bertanda kurung)

*Kalkulator ini menghitung == 3,141592654 dan
e=2,718281828.

*Pada beberapa fungsi matematika, tampilan meng-
hilang sejenak ketika rumus yang rumit sedang
diproses. Karena itu jangan masukkan bilangan atau
menekan tombol fungsi sampai jawaban ditampilkan.

* Anda tidak dapat menentukan satuan pengukuran an-
gular (derajat, radian, grad) atau format display (FIX,
SCI) ketika kalkulator berada dalam mode BASE-N.
Perincian semacam ini hanya dapat dibuat jika anda
keluar dahulu dari mode BASE-N.

*Jangkauan masukan tiap-tiap fungsi dapat dilihat
pada halaman 102.
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OVl waleus Sladas /4 Y
fendl daeyd Lty §LbS alall Calsg)l rolie alaaiil) S
Cewn sblee Wl 3 L) ad¥) LelIY Clesdl Sl
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o Jobatll el1 Ll Saall a8 o 3 e
Gk G g1 i 51wl B J3a 5 Y 1) 3uiall oY lall
WLl LY Loy ab s

et LIyl ooy all) (sl bl Sung aouas IS0 Y
s525 2551 (SCILFIX) Laall adaia g1 (S ans¥) oloys iy
131055 lwanill o3a Jac oSy . BASE-N waglt 3 Loulai
) 51 BASE-N ezlf -l s

VE Gais i) daadall YL 0 Jae K0 Al =

17-1 Sexagesimal — Decimal conversion
The [ key converts the sexagesimal figure (degree
minute and second) to decimal notation. Operation o%
EMES converts the decimal notation to the sex-
agesimal notation.

11-1 Conversion sexagesimal < decimal

La tecla convierte una cifra sexagesimal (grados
minutos y segundos) a notacion decimal. Al opera'r
se convierte la notacion decimal en sexagesimal.
11-1 Conversion sexagésimal < décimal

La touche [+ convertit le nombre sexagésimal (degrés,

minutes et secondes) en notation décimale. L"appui sur
— ) . b

convertit la notation décimale en notation sexa-

gésimale.

11-1 60— 10EMIRE

I BEINFO0MEN ROBLA (B . DROAD ) IBE A 10 1L KR
BB AR AT D) ED B8 T LUHG 1 O 1 B 18 1R B A 60
fi F AR AE

11-1 0%« 108 w4 35

EJ71E 60RIS (@ W EOD)E (gx]5(0) g g
fEE e RS withE 0XFE 602T @ viziAl

ot

o
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11-1 Konversi Seksagesimal < Desimal
Tombol mengkonversikan bilangan seksagesimal
(derajat, menit dan detik) ke notasi desimal. Op_erasi
mengkonversikan notasi desimal ke notasi sek-
sagesimal.

&:tw‘..\‘.u." slasy) qudf};'m Y-y
(Lol Tadalt  o,all) e ool awall 2301 fogals B CGill 43,
Seoll 31 s padl Sasll Sy ER B £ Bal! Jaild - s ndeall 501 )

rhe gul )

14°25°36'" = 143 14,
25F1 14.41666667

36(1 14.42666667

14°25°36,

11-2 Trigonometric/Inverse trigonometric
functions

11-2 Funciones trigonométricas y
trigonométricas inversas

11-2 Fonctions trigonométriques /
trigonométriques inverses

11-2 ZAEN/ R=BEH

11-2 Abztsts/Aatzt gt

11-2 Fungsi trigonometri/invers trigonometri

dacusSall &.33.13.&!/&._:.113“ YT Y =y
sin(%rad):

‘B (EmE) oEeem 05

cos63°52'41" =
@ (H9(E)
6315294101
(]

63.87805556
0.440283084

tan(- 35gra)=
[’ (fxg(8)) 350 —0.612800788

—-162 - \1Y

2.5in45° X cos65° =
e
2045@M658)| 0.597672477

1
o___°  _
cot30 =n30° =

B’ 30 1.732050808

1
- =
cos ( 3 rad)

e e —N

cosec 30° =

sec(%rad)=

1 _
sin30°

R —

2

2
"B 208 2@mE 0 7853ET6I
tan '0.6104 =
@ (36104 (i)
EME)

cos

31.39989118
31°23°59.61

11-3 Hyperbolic functions and inverse
hyperbolic functions

11-3 Funciones hiperbélicas y funciones
hiperbélicas inversas

11-3 Fonctions hyperboliques et fonctions
hyperboliques inverses

(113 SRR BROT AR AR B

11-3 BN SS/ANTM B4

111-3 Fungsi hiperbolik dan inversnya

—163—\1y



Laalyl SYtallg EERVISSTI TRVIR S
Lausad

|
sinh3.6 = 336 () (sin) 18.2854553¢
tanh2.5= 2] 5 () ftan) 0.98661429g

cosh1.5-sinh1.5=
105 M el

(D{upiEn] =]
D)

sinh '30= 30 () (yp) sic) 4.094622224

Solve tanh 4x=0.88.
Solucionar tanh 4x=0,88.
Résoudre tanh 4x=0,88.

X% tanh 4 x - 0.88.

tanh 4x=0.888 E0{ ZC}.

Pecahkan persamaan tanh 4x=0,88.
0,88 =tanh4 x : |~

,_tanh '0.88 _
4
D8sEmmWE 48

2.352409615

0.22313016

0.343941914

-6 ERRARNY EH (RREHY. ARY
. FHAR)
-4 4B &IUF/X| 5 (42 A,
A Aoig, 25 AL 552 AL
11-4 Logaritma/eksponen biasa dan natural
(antilogaritma biasa, antilogaritma
natural, pangkat dan akar)
w‘j!/&:n._.\..de.ll, Golad) Glaiagle gli) ¢ = V)
i Jilis (doladl Glaiasle ol J.al.ﬁ.o)
| (ol s il Laaslall cilais 12 ol

od = X
=

| 10g1.23(=log,,1.23)=
\ 1023

Solve 4= 64.
Solucionar 4*=64.
Résoudre 4*=64.
SR 45=64.
H= 642 Eof Eci.
Pecahkan persamaan 4*= 64.

0.089905111]

11-4 Common & Natural logarithms/ !
Exponentiations (Common antilogarithms,
Natural antilogarithms, Powers and Roots) |
11-4 Logaritmos comunes y naturales/ |
exponenciaciones (Antilogaritmos
comunes, Antilogaritmos naturales,

Potencias y Raices)

11-4 Logarithmes décimaux et népériens/
élévations a une puissance (cologarithmes
décimaux, cologarithmes népériens,
puissances et racines)

—-164—\1¢

4 =64: Ja
x-log4=1log64
log64
x= 64mE4IE 3.]
log4
In90(=log,90) =
90 ) 4.49980967 ]
1og 456 -In456 = -
456 MmERnE 0.434294481 |
10°*+5.¢ 3=
(467 EI 5 EI 3
mea| 2.760821773]
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5.6%3=
536@®2)38 52.58143837
123"7(=V123) =
123609768 1.988647795

(78 -23) "?=

786323 1268)| 1.305111829-21

312 + 810 —
3@ 1263106738 553467.4658

log sin40° +log cos 35° =

D]
40 (sin) (o) €3 35 (o3l (0 B —-0.278567983
| Sl ] 0.526540784
(The antilogarithm ............... 0.526540784)

(El antilogaritmo ..... .... 0,626540784)
(Le cologarithme .... .... 0,626540784)

(CHEBE - 0526540784 )
(QACH A -+ 0.5626540784)
(Antilogaritmanya ................ 0,526540784)
(+,°Y1o 8 VAL aile st Jolas)

151’6+ 25'/6‘+ 351/7:

15 E() 5 £ 2560 &)
63356 78

5.090557037]

11-5 Square roots, Cube roots, Squares,
Reciprocals & Factorials

11-5 Raices cuadradas, Raices cubicas,
Cuadrados, Reciprocos y Factoriales

11-5 Racines carrées, racines cubiques, carrés,
inverses et factorielles

-166—\11

11-5 FHRLHFIRFF | BR0pE

11-5 Hatz, MAdEs2, gz, 95, As

11-5 Akar kuadrat, akar pangkat tiga,
kuadrat, kebalikan dan faktorial

xSl giall aass Al 3all 6 - 1)
g prallg lgSat! olasy! ('.'..“J:'

V2+V3xV6=
2@3@WMAS@A|  5.287196909
Yo+ V—27=

5EMEIEN27EAENEE] - 1.290024053

123+30%=

123@30983 1023.

1

11"
3 4

swmimen 17

8I(=1%x2%x3X..... X7 x8)=

8E@ 40320.

' 11-6 Miscellaneous functions (FIX, SCI, NORM,

RND, RAN #, ENG)

11-6 Funciones varias (FIX, SCI, NORM, RND,
RAN #, ENG)

11-6 Fonctions diverses (FIX, SCI, NORM, RND,
RAN #, ENG)

11-6 HftbZBIhEE (FIX.SCI.NORM.RND,
RAN# . ENG)

—-167—-\1V



11-6 &2k (FIX, SCI, NORM, RND, RAN #,
ENG)

11-6 Fungsi-fungsi aneka ragam (FIX, SCI,
NORM, RND, RAN #, ENG)

. NORM . SCI . FIX ) ds gaio SGUSg T — \\
(ENG . RAN# . RND

“FIX2" (E(@@)

1.234+1.234=
123463 1.23
102348 " 47
F(8) 2.468
FIX2"
13234 E 1.23
10234EmE "5 46
ool (83 2.46
1+3+1+3=
“SCI2" (EmEE)
1236 3.3-01
18338 6.7 sflo1
F9E) 0.666666666
#$C12" @ 1E3EEFEE 3301
@1@3EEHRE 6.6..01
() 0.66
—168— \1A

1+ 1000=0.001

=1x10?
(kllorm 1) 1810008 1.-03
(Norme 1)
(Norm 2) @| 0.001
E*E?” (Norme 2)
(Nolr_ma 1) :?ggz
(V@) (Norma 2)
(Y 3aci)
123m x 456
=56088m
=56.088km
123834568 56088.
() 56.088 03
7.8g+96
=0.08125¢g
=81.25mg
7883968 0.08125
[a) 81.25-03

Generate a random number between 0.000 and 0.999.
Generar un numero al azar entre 0,000 y 0,999.
Générer un nombre aléatoire entre 0,000 et 0,999.
% 40.000 F 0.999 Z FAY—fEIBEHE L,

0.0000{{A{ 0.999At0|=2 2 &).

(b

Hasilkan sebuah bilangan acak {random) antara 0,000
i dan 0,999.

AR L G Wlsade Lady 58

0.570
(Example) (Ejemplo)
(Exemple) ()

(@ (Contoh)

(JBe)
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11-7 Polar to rectangular co-ordinates
conversion

11-7 Conversion de coordenadas polares a
rectangulares

11-7 Conversion de coordonnées polaires en
coordonnées rectangulaires

11-7 BEEEEAZZENRE
11-7 M >=lzto| =tEHE
11-7 Konversi koordinat kutub ke koordinat te-
gak lurus
J! EL:J&\.H al:ﬁl.\.xyl J:;};B V-1
3aslaitl olstaay!
Formula/Férmula/Formule / A=
AA /Rumus / dalal!
x=r.cosf y=r.sinf

Ex.)

Find the value of x and y when the point P is shown
as 0=60° and length r=2 in the polar co-ordinates.

Ej.)
Encontrar el valor de x e y cuando el punto P aparece
como §=60° y el largo r= 2 en la coordenada polar.

Ex.)

Trouver la valeur de x et y quand le point P est donné,
en coordonnées polaires, avec 8= 60° et la longueur
r=2.

Bi)

EP IIH B AR O

SKEAREEFE « fEXD Y fE,

#) PEO| CH=aM EH &AM 6=600/1 20| r=2%
o x2F yo| gE Tl

Contoh)

Carilah nilai x dan y dari titik P yang dinyatakan dengan
6=60° dan panjang r= 2 pada koordinat kutub.

60°, & r =2 MR,

—-170—\V:

N . (JBs
= 0 WP dball el Laie oy X Lad aayl
kil SLSIaYI 3 Y =7

R =T —
P

(x)

1.732050808

(y)

Jokdly -

11-8 Rectangular to polar co-ordinates
conversion

11-8 Conversion de coordenadas rectangulares
a polares

11-8 Conversion de coordonnées rectangulaires
en coordonnées polaires

11-8 BEREZEEREENRYE
11-8 X Zt—>f 3ol =pmed st
11-8 Konversi koordinat tegak lurus ke
koordinat kutub
RIREVIE 1Y A ERES Jugai A -\
E:nehi.ll Ql._ﬁl.x;;}!l

Formula: / Férmula: / Formule: /23 :/ 2411/
Rumus: / :dsd!

r=x*+y

1

f=tan =(-180°<6#=180°)

x
Ex.)
Find the length r and angle ¢ in radian when the point
P is shown as x=1 and y =V3 in the rectangular co-
ordinates.
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Ej.)

Encontrar el largo r y el angulo 6 en radianes cuandg
el punto P aparececomox=1ey =V3 en la coordena.
da rectangular.

Ex.)

Trouver la longueur r et I’angle 6 (en radians) quand le
point P est donné en coordonnées rectangulaires avec
x=1et y=V3.

1)
HERAEERPIEN x= 1. y=/3 8. HKEER
r RO A G ZIE,

#)) PXMoO| Xzt X EAAM x=1022 y=v3 L We| 2
o rut 2T 68 2iCiA2F FSIAIL.

Contoh)

Carilah panjang r dan sudut § dalam radian dari titik P
yang dinyatakan dengan x=1dan y= V3 pada koordi-
nat tegak lurus (Cartesius).

(Ja
P bl 45 Losic yhd cieaddl Lyl § ylolly £ Jshll aayl
Saeladll SlElaa¥l 3 YV= p gV = x50 taay

T e —

(r)

1.047197551

(6 in radian) (6 en radianes)
(8 en radians) (6 1#)

(etciot @) (0 dalam radian)
(b ciaad Lyl 6 dai)

11-9 Permutations
11-9 Permutaciones
11-9 Permutations
11-9 $#E31
11-9 =&
11-9 Permutasi
de!.ﬁa.ll -1\

—-172-1\VY

Input range: n=r (n, r: natural numbers)

Gama de entrada: n=r (n, r: nimeros naturales)

Gamme d’entrée: n=r (n, r: entiers naturels)

RARE: n2r(n.r: BAK)

el el nzr (n, 1 XAF)

Jangkauan masukan: n=r (n, r: bilangan asli)
(G slaci o ron ) r=p (JBY e

Formula: / Férmula: / Formule: /230 :/ 3411/
Rumus: / :dstadl

"j

nPr=—--—
(n—r)!

Ex.)
How many numbers of 4 figures can be obtained when
permuting 4 different numbers among 7 (1 to 7)?
Ej.)
;Cuantos numeros de cuatro digitos pueden ser obte-
nidos cuando se permutan cuatro numeros diferentes
de entre siete (1 a 7)?
Ex.)
Combien de nombres de 4 chiffres peuvent étre obte-
nus en permutant 4 nombres différents parmi 7 (1 a 7)?

i)

L E T BB 2 0B A ERE TR 4 L7

)

OllAf T AlOl2| 47Hel CIE XS FEY B 47He

FXE R OOH O F UGN ?

Contoh)

Berapa banyak macam barisan 4 angka yang dapat
diperoleh dengan mempermutasikan 4 bilangan ber-
beda dari 7 bilangan (1 sampai 7)?
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(JGe
slael ¢ Jad sic dule Jgeaadl (Sas Al € o OS5 aae oS
SV 3N Vo Lasd dalia,

7m@aE 840

11-10 Combinations
11-10 Combinaciones
11-10 Combinaisons
11-10 #4&
11-10 =gt
11-10 Kombinasi
&L__ﬁé! 3.":." Vo
Input range: nzr (n, r: natural numbers)
Gama de entrada: n=r (n, r: nUmeros naturales)
Gamme d’entrée: n=r (n, r: entiers naturels)
WAKE: n=r(n.r: BAK)
U MRl nzr(n, r XAF)
Jangkauan masukan: n=r (n, r: bilangan asli)
(Gagb staci s r vn) rsn YY) gu
Formula: / Férmula: / Formule: /A= :/ 341/
Rumus: / :dsdl
nCr

n!

= rl(n=r)!

Ex.)

How many groups of 4 members can be obtained when
there are ten in class?

Ej.)

¢Cuantos grupos de cuatro miembros pueden ser ob-
tenidos cuando hay diez de una clase?

Ex.)
Combien de groupes de 4 membres peuvent étre obte-
nus quand ils sont dix en classe?

—174-\V¢

i)
HIOEYFEE, ATLUMER SO 4 EHMBE 7

sh Feteoh 200 Ao, 4TH2) RXe ¥ X Thol AUSH

Contoh)
Berapa banyak kelompok beranggota 4 yang dapat di-
susun dari 10 siswa dalam kelas?
(Jua
b 5 Loie Lale Jyemndl (Sas elitel £ (o (35S5 Legana oS
Jaadll 3 alpet Y

veEm@ael 210 ]
12/STATISTICAL CALCULATIONS

*Be sure to press EF)[d in sequence prior to starting
a statistical calculation.

12/CALCULOS ESTADISTICOS

*Cercidrese de presionar en secuencia previa al
inicio de un célculo estadistico.

12/CALCULS STATISTIQUES

*Avant de commencer un calcul statistique, il faut effa-
cer la mémoire en appuyant dans I'ordre sur [ {ag.

12/#EtET R
< FBTEACE BT B B LA £ T 0 R IF R
12. SAAILHY

‘SAAINE AlRELT] Fol, BT E =2
D}A|g‘

Ty
M
o

—175—-1\ve



12/PERHITUNGAN STATISTIK

*Pastikan menekan berurutan lebih dahulu yn.
tuk memulai perhitungan statistik.

Ei:\.‘:lua:.Y| CAL_AL..u.;Jl/ \Y

Shas o s ol 3 SHiFT) ~olal) bas oral
? ¢ & R i
ilasy! sblaall

12-1 Standard deviation
*Set the function mode to '’'SD"’ by pressing [ho0g)(3),

Ex.) Find On-1, On, X, n, £x and Lx? based on the
data 55, 54, 51, 55, 53, 53, 54, 52.

12-1 Desviacion estandar
*Ajuste al modo de funcion en “'SD’’ presionando
(3]

Ej.) Encontrar On—1, On, ¥, n, £xy £x2 basado en log
siguientes datos 55, 64, 51, 55, 53, 53, 54, 52

12-1 Ecart-type
*Régler le mode de fonction a ’SD’’ en appuyant sur
frod (3.
Ex.) Trouver On--1, On, X, n, £x et £x? en se basant
sur les données 55, 54, 51, 55, 53, 53, 54, 52.

12-1 REREE
+ 3% oo (3) S LR EE "SDT AKEE

fB1)) 5% 5K (889 55, 54, 51. 55, 53, 53. 54, 5289 0n1 | gn

TNz A0sxt
12-1 EFE WX
(3] 72 weiFof visREE SDT EALR W &,
)
55, 54, 51, 55, 53, 53, 54, 52 9| Ho|Et: J|Eez
On-1, On. X, n. Lx. Lxlil PotAlL.

12-1 Standar deviasi

*Atur mode fungsi ke “SD’" dengan menekan (og(3).

Contoh) Carilah On-1, On, X, n, Lx dan Lx? berdasar
data 55, 54, 51, 565, 53, 563, 54, 52.

—176—1\V1

Solaadl Siaiyi ) - VY

L "SDT g lall SLasY) sy e JaddSl sy sl x
_ (3) frang) ¢ Gal!

Jo oYL Ex? 5  Ex o X 00 L On-t sagl (Jlde

oY (08 ,0Y oY 00 0\ 08 00 sLLul

.
@[ 55 6N 5451 51 W55
ms3ememsamsEm 52

(Sample standard deviation)
(Desviacion estandar de muestra)
(Ecart-type sur un échantillon)
(B (R Z(E)

(@ 2& Wz

(Standar deviasi sampel)
(g 3pal) sLlall eyl

@ME=)|  1.407885953

(Population standard deviation)
(Desviacion estandar de poblacion)
(Ecart-type sur une population)
(AT ERAEE)

(YC BFEHA

(Standar deviasi populasi)

(Ol Slansl (g lall il ai¥ )

1.316956719

(Arithmetical mean)
(Media aritmética)
(Moyenne arithmétique)
(%7£HhI1T)

(X&)

(Rata-rata aritmatika)
(olaall il

53.375

(Number of data)
(Numero de datos)
(Nombre de données)

=177 - \VVY

e




(iR E)
(dlojEte] &X})
(Jumlah data)
(obladh sac)

Y E—

(Sum of value)
(Suma de valores)
(Somme de valeur)
(Zgien)
(x| 1)
(Jumlah nilai)
(Ladl) ¢ gaxs)

427,
(’Sum of square value)
(Suma de valores al cuadrado)
(Somme de valeurs carrées)
(2YFH40)
(M-S xlel &)
(Jumlah kuadrat nilai)
(LAl paill ¢ sans)

Calculate the unbiased variance and the deviation be-
tween each data item and the average.

Calcular la varianza sin sesgo y la desviacion entre ca-
da elemento de dato y el promedio.

Calculer la variance neutre et I'écart entre la moyenne
et chaque article de données.

SHE &N PN EIR 5 ERRE LUK T 11E.

& dlolEl 20 WIX| Atoje| SHELD
HMSIAI2.

HALE.

Hitung varians tak terbias dan deviasi antara tiap-tiap
data dengan rata-ratanya.

aeusilly Bl g e JS s BV hasle il il aal

—178—-\VA

(Subsequently)
(Consecuentemente)
(Suite)

(HBHRETH)
CEEE))
(Berurutan)

(JLit)

(6P g (2 1.982142857

(Unbiased variance)
(Varianza sin sesgo)
(Variance neutre)
(ERH%)

(FEg ox)
(Varians tak terbias)
(D230 2 i)

mpamssa T6%]

(55— x)
sag[_____ 0.625]
(54-x)
518 —2.375
. . (51-X)
Note:
The sample standard deviation On-1 is defined as
Nota:

La desviacion estandar de muestra On-1 se define
como

Note:
L'écart-type sur un échantillon On-1 est défini par

tE:
BIEAE R Ao TEBD

Fo:
EE EEMA On-1E CISD 2ot
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Catatan: o
Standar deviasi sampel On-1 didefinisikan dengan

Laa,
SISO 17 dpaill g laall SasYY i,

the population standard deviation On is defined as
la desviacion estandar de poblacién On se define como
L'écart-type sur une population On est défini par
BMIZEERAEBEERRD

@At gEMX Ongs chsab 2ot

standar deviasi populasi On didefinisikan dengan

SYIS On SISl shaail g olalt LAY ey,

and the arithmetical mean X is defined as

y la media aritmética X se define como

et la moyenne arithmétique X est définie par:

EEFIFEXEER

SxtE& ¥ ctse 2ot

dan rata-rata aritmatika (mean) X didefinisikan dengan
SIS plaatl il yay

—180— A"

Ix

n

*Pressing i, &), (2, (@), @4, or @) key need not be

done sequentially.

*La presién de las teclas &), @), (Z), @), &3 o G2 no

necesita ser hecha en secuencia.

*Il n’est pas nécessaire d’effectuer une pression suc-
cessive sur la touche [x, &a), (Z), (7), B4 ou E=).

R E) G0 (@) . (@) . B 3% GO 885 RO KR IE F iR,
B, B, (F), (@, G2, =2 EHrise dsxoz w2

2L guch

*Penekanan tombol &), (£3), (Z), (), 2 atau @) tidak

perlu dilakukan berurutan.

J b YER) S B . (@) &) BB il bis
B3 G alal

Ex.)

Find n, X & On-1 based on the data: 1.2, —

-1.5,2.7, -0.6, 0.5, 0.5, 0.5, 0.5, 1.3, 1.

0.8, 0.8, 0.8, 0.8, 0.8.

Ej.)

Encontrar n, ¥ y On-1 basado en los datos: 1.2

-0,9, -1,5,2,7, -0,6,0,5, 0,5, 0,5, 0,5, 1,3,1,3,

1.3, 0,8, 0,8, 0,8, 0,8, 0,8.

Ex.)

Trouver n, X et On—1 en se basant sur les données:

1,2,-09, -1,5,27 -0,6,0,5,0,5, 0,5, 0,5, 1,3,

1,3,1,3,08, 08, 0,8, 0,8, 0,8.

.9
3, 1.3,

i)

SR T 38K 2. - 0.9, - 15.2.7. ~0.6.0.5.0.5.0.5.
0.5.1.3.1.3.1.3.0.8.0.8.0.8.0.8.0.8 &9 n . X 1 0n:1,

#)

.2, =0.9, —I.5 2.7, —0.6, 0.5 0.5 0.5 0.5 1.3,

5 1.3
1.3, 1.3, 0.8 0.8, 0.8 0.8, 0.8 2 HOIEIE 7|Zo=z
n, X2 0n-18 FsiAI.
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Contoh)

Carilah n, ¥ dan On-1 berdasar data: 1,2,
-1,5,2,7, -0,6,0,5,0,5,0,5,0,5, 1,3, 1
0,8,0,8,0,8, 0,8, 0,8.

ol GhasYly ¥ pleadllsgill o 1 2Blall sae aagl (JUe

-0,9,
,3, 1,3

9,

LV L0 = = ALY sl e ol YL On -1 dgail)
Y RNV R SR’ P S\ PAPA PARESLERSLERSLERFLIAPAES

A
“Sp’’

s 2mmemm 03]

(Mistake) (Equivocacién) (Erreur) ($83R)
(&%) (Kesalahan) (tbsa)

20s@[__ -29]

™' (To correct) (Correccion) (Pour corriger) (B 1E)

(%) (Pembetulan) (paasaill)
 E—

(Mistake) (Equivocacién) (Erreur) ($#3%)
(al5) (Kesalahan) (W)

(3 (Mistake) (Equivocacion) (Erreur) ($&3%)
Al4) (Kesalahan) (a)

16 —1.6]

13568
27

&)

(3’ (To correct) (Correccion) (Pour corriger) (B 1E)
(%) (Pembetulan) (gassaill)
(5H7) ey -1.6
(6050w -0.6
—182—\AY

(2)'(To correct) (Correccién) (Pour corriger) (¥ IE)

(%) (Pembetulan) (raswaill)

207@®E 2.7]
@568 0.5
4o 0.5

(@ (Mistake) (Equivocacion) (Erreur) (§%3%)
Al%) (Kesalahan) (Uaa)

el 14

(@' (To correct) (Correccién) (Pour corriger) (&|IE)
(%) (Pembetulan) (paasaill)

0]
1338330 1.3
Et:] x | 0.8

(® (Mistake) (Equivocacién) (Erreur) ($%38)
&) (Kesalahan) (ba)

L —r

(®' (To correct) (Correccién) (Pour corriger) (B IE)
(%) (Pembetulan) (gaswasll)

e S —

Eat:] x Jan)
Ke9(mm) 17.
@mE)| 0.635294117
0.95390066

12-2 Regression analysis

*Set the function mode to “‘LR’’ by pressing (g(2).
12-2 Andlisis de regresion

*Ajuste el modo de funcién a “LR" presionando [#0g(Z).
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12-2 Analyse de régression
*Régler le mode de fonction a “'LR"" en appuyant gy,

[roog (2]

12-2 G5BT

e )R EE LR AKAE

12-2 3|#HEM

‘(2 72 =2 F22M 2578 LR YAlos
=.

aH

12-2 Analisa regresi
*Atur mode fungsi ke LR’ dengan menekan @

22l Jalaldh ¥ - gy

cGall i, "LRY il paall kg fe Jaiddll g laisi

(2] o

M Linear regression
W Regresion lineal
B Régression linéaire
B S RER
L U R
M Regresi linier

sl aaln,
Formula: y =A+Bx
Férmula: vy _B.Y
Formule: A _Ly-B-Ex
N n
SA B _nExy—Lx:Xy
Rumus: T neEx? - (Ix)?
st

_ nLxy—LXx.Xy
Vin-Lx? - (Zx)?] (n-Ty2 - (Zy)?)

r

Ex.) Results from measuring the length and tempera-
ture of a steel bar.

Ej.) Los resultados de medicion de la longitud y tem-
peratura de una barra de acero.

—184— \At

gx.) Résultats de la mesure de longueur et de tempé-
rature d'une barre en acier.

) 7 A st O R BRI E BRT AR AVET S
g) 2EBel Zolel 252 M 3o MaHUE PR,

contoh) Hasil pengukuran panjang temperatur se-
batang besi.

all (o b 55 s s el S e Byl 33 (Jla

temp./temp. length /longitud

température / ;& & longueur/ & &

2 & /temperatur 210| / panjang
5)ladl oy Jobl!

10°C &) 1003mm as V- - ¥

15 \o 1005 -0

20 Y 1010 (A

25 Yo 1008 VoA

30 Y 1014 (RRYi

Find the constant term (A), regression coefficient (B),
correlation coefficient (r) and estimated values (X, )
using the above figures as a basis.

Encontrar el término de constante (A), coeficiente de
regresion (B), coeficiente de correlacion (r) y valores
estimados (£, §) usando basicamente las cifras ante-
riores.

Trouver le terme constant (A), le coefficient de régres-
sion (B), le coefficient de corrélation (r) et les valeurs
estimées (X, ) en utilisant les chiffres ci-dessus comme
base.

FUEMIRE HERHIA (A). QK E (B). 1863%
H(r) FREE (T F),

VM og el RALE of&stol HTE(A),

£(8), MBAF(r), HIIX(X §IE FIHAL.

3| Al

Carilah suku tetapan (A), koefisien regresi (B), koefi-
sien korelasi (r) dan harga perkiraan (%, ) dengan
menggunakan angka-angka di atas sebagai basis.
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(7 ) LY Jeban (B ) galill Jalas (A ) 2ulill sadl anyi
ool Dbl pl5¥1 pladiunls (7« X ) Sopaiihh il

“LR" @@10E  10]
“R gadll gali " 1003E
15 @3 1005 )
203 1010 [
2531008
30E9101463

1008.

S|y
(A)
8)

@@ 0.919018277

(r)

(When the temp. is 18°C)
(Cuando la temp. es 18°C)
(Lorsque la température est 18°C)
(EBE218CH)
(257t 18T A=)
(Ketika suhu 18°C)
(p VA B Loy 0sS5 Leaie)
183 1007 ]
(mm)
(When the length is 1000mm)
(Cuando la longitud es 1000mm)
(Lorsque la longueur est 1000 mm)
(& &E21000mmB¥)
(Zo|7t 1000mm 2 )
(Ketika panjang 1000mm)
(o Voo dglall (5Ss Losie)
000sm@ 4]

(°C)

—-186— VA1

Note: Zx?, Ix, n, £y?, Ly, Lxy, X, xOn, xOn-1, ¥,
y0On, yOn—1, A, B and r are respectively obtained
by pressing a numeral key ((1] to (8)) after the
or key.

Nota: x?, Lx, n, £y?, Ly, Lxy, X, xOn, xOn-1, ¥,
y0On, yOn-1, A, B y r se obtienen respectivamen-
te presionando una tecla numérica ((1J a (8))
luego la tecla o [ .

Note: Ex?, Lx, n, £y?, Ty, Lxy, X, xOn, XOn-1, 7,
yOn, yOn-1, A, B et r sont respectivement obte-
nus en appuyant sur une touche numérique ((1)
a (@) apres la touche ou [ .

AR ERK S ENRZEBROERNBFERTLL
DR/ EIzc. Ix N Sy2. Iy (Sxy. T .
XOn . X0\ F . YOn . Yo . ABF0r BfE,

Fo  Zxk Zx.n, Tyt Ty, Bxy, X.x0n,x0n-1.3. yon.
yOn-1, A, B, r & Mzt7|, kajse 7lg =2
& #ofl otztvlot A FI(@J0IM (@))E =2l B2
2ZM P = AFch

Catatan: Lx?, Ix, n, Zy?, Ly, Lxy, X, XOn, xOn-1, ¥,
yOn, yOn-1, A, B dan r masing-masing di-
peroleh dengan menekan tombol angka ((1]
sampai (9)) setelah tombol atau [ .

+XOn. X Lxy Ly «EZy% n.Lx Ix?pa il :qhade
LﬁJ.;LL,.m.]lrc.:. r .B.A‘yOnfllyGn.y cXOn-1
cBall s (B) U [0 00) by ¢ e by J1sall Yo

- [ cla

*Correction of data entry
*Correccion de los datos de entrada
*Correction d’entrée de données

AR EREE

“GlolEl Yol +H.

*Pembetulan masukan data

Slbbudl J9as paawas
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Ex.) / Ej.) / Ex.) / f§i})/ o) / Contoh) /

xi|2]3[2[3]2]4
vi|3|ala]s[5]5

NN

RN

e 2 3em] 3]

1) (Mistake) (Equivocacion) (Erreur) (§£:2)

(A% (Kesalahan) (U3)
a 4]

(1" (To correct) (Correccién) (Pour corriger)
(FEIE) (+ %) (Pembetulan) (raswaill)

367
aEm

Pjw|o

(2) (Mistake) (Equivocacion) (Erreur) ($53%)
(&%) (Kesalahan) (Uaa)

£ I

(2)" (To correct) (Correccién) (Pour corriger) (¥ 1E)

(5 %) (Pembetulan) (paaseill)

23 2.
4@R 4.

(3) (Mistake) (Equivocacion) (Erreur) (§&3%)
(a1%) (Kesalahan) (Usa)

=y

—188—-\AA

3;"(To correct) (Correccion) (Pour corriger) (¥#1E)
(+4) (Pembetulan) (prasaaill)
5.
3@ 56 5.
pAESD) 2.

4, (Mistake) (Equivocacién) (Erreur) ($83%)
(27 (Kesalahan) (Wba)

4 4.
458 4.

5! (Mistake) (Equivocacion) (Erreur) (§%3%)
(&%) (Kesalahan) ()

s —

5, ' (To correct) (Correccion) (Pour corriger) (B IE)
(% 2) (Pembetulan) (prasail)

oy

6.
4[R5 0 5.

4," (To correct) (Correccion) (Pour corriger) (B IE)
(5 21) (Pembetulan) (paasaill)

2 (55 4 [ B 4.
27 5 o 5.

These ways of correction can also be applied to
logarithmic, exponential or power regression.

Estos modos de correcciones también pueden aplicar-
se a regresiones de potencia, exponenciales y loga-
ritmicas.

Trois moyens de correction peuvent étre appliqués
dans la régression logarithmique, exponentielle ou de
puissance.

SEEYEEMA AT IRAREY. SHEFEHTE

MBS, hE, X%, 52 Meale] WA
;
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Cara pembetulan ini dapat pula diterapkan ke regresi

logaritma, eksponensial atau perpangkatan.

5351 ¥ il pal Al o 518 ol ok Gl (Sa
el 3530

B Logarithmic regression
B Regresion logaritmica
B Régression logarithmique
g 2461
Wy 5|7
M Regresi logaritma
NN

Formula: / Férmula: / Formule: / 2/ &4/
Rumus: /. Jold!
y =A+B-Inx

*Input data items are the logarithm of x (Inx), and y
which is the same as in linear regression.

*Operation for calculating and correcting regression
coefficients are basically the same as in linear regres-
sion. Operate the sequence x (Inj(3] to obtain estima-
tor  and y for estimator £. Note that
Tinx, £(Inx)?, and Tinx-y are obtained instead of Lx,
£x?, and Lxy respectively.

*Los elementos de datos de ingreso son el logaritmo
de x (Inx), e y que es similar como en la regresion
lineal.

*La operacion para el calculo y la correccion del coefi-
ciente de regresion son basicamente similares como
en la regresion lineal. Realice la secuencia x (In)(3) para
obtener el estimador j e y Bi(Z)EM (€ para el esti-
mador £. Observe que Zinx, £(Inx)*, y Zinx.y se ob-
tienen en lugar de £x, £x?, e Lxy respectivamente.

*Les articles de données entrés sont le logarithme de

x (Inx) et y qui est le méme que dans la régression
linéaire.

-190-\4~

‘L_’ope’ration du calcul et de la correction des coeffi-
cients de régression est fondamentalement la méme
que dans la régression linéaire. Opérer la séquence

X ur obtenir la valeur estimée de j et y

)pour la valeur estimée de £. Noter que
Linx, Z(lnx)* et Linx.y sont obtenus au lieu de Ly,
Yx? et Lxy, respectivement.

CRAREMMIEZ OB (Inx), Ty HERLDS
LEICE

STRBRERERFMEEARR L BB ERSAER,
RIEFHRIE x IR KGHMBED, 21 vEm
RN R KSMEBR. FEESInx. =(n
O ZIn 2oy @I 3oz Fzay RBKE

celet dlolEt 252, Mus|? wel Zo| x (Inx), yel
o

lEXMoZ B|RMSTO SEU A AEe Mijal 7 )
ot Tstuct. prix x& MM@)7s xelchz, §a
Jtxloff thst y & IS xfthg s2{ FA
.

Clnx, Y(inx)? @ Ylnx.y & MZt7| Lx, Tx2. 9 Lxy 2
CHA| S/ 01 K| & 210l F2IBHAID. )

H

*Data masukan adalah logaritma dari x (Inx), dan y
yang sama dengan dalam regresi linier.

*Operasi perhitungan dan pembetulan koefisien-
koefisien regresi pada dasarnya sama dengan regre-
si linier. Operasikan berurutan x (In)(3] untuk mem-
peroleh nilai taksiran y dan y untuk nilai
taksiran £. Perlu dikehui bahwa Zinx, Z(Inx)?, dan
Linx.y diperoleh seperti halnya Lx, £x2, danZxy.

sadl 5o ¥ 5 (Inx) X oaadl aiylegd a Al SUL a5
it a3 LS daddll s o s Al
oms Lolal 58 a3 S alas masady Gl Jal e Juaaiall «
B[ x oL Jsd sl cal, sl s 3 Josl)
Ly 5 Y Lpaill sdll fe Jpand)
mdll e Jyeandl ot Gl BaY - £ Lpnaiill daidll e Jgamall
Txy s Lx? Lx padll oY Linxey s5- L(nx)? . Ciny

S e

Ex.) / Ej.) / Ex.) /f5l)/ o) / Contoh) /
xi | 29 | 50 | 74 |103[118
vi |1.6[23.5/38.0[46.4]48.9
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Find A, B, r, £ and  using the above figures as a basis.
Encontrar A, B, r, £ e § usando basicamente las cifras
anteriores.
Trouver A, B, r, £ et § en utilisant les chiffres ci-dessus
comme base.
LIS R HE A B r. TR,

Jiexoz 9o £XtE o830 A, B, r, X, JE 3t
Al
Carilah A, B, r, £ dan.  dengan menggunakan angka-
angka di atas sebagai basis.

WA | ver v o- | oya | xi |(JUe
EAA | L8 | YA | YT L A i
AiY) alaasil o5 X o BAu;\iz:btj"
“LR"" g 29 (n) BA| 3.36729583
“LR adll aalilt”  1(2)6 60 1.6
50([n)EA 235 EW 23.5
74 )= 38 W
103MER46(]40W
118(nE348()9mwW |
@@ —111.1283976
(A)
FIE) 34.02014749
(B)
() 0.994013946
(When xi is 80) n

(Cuando xi es 80)
(Lorsque xi est 80)
(8 xi Z1808F)

(xi7} 802 ZS)
(Ketika xi=80)

(A oo Xi Lash 0585 Lasie

)
gom®|  37.94879481
)
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(When yi is 73)

(Cuando yi es 73)

(Lorsque yi est 73)

B yi FH1385)

(yizt 132 BD)

(Ketika yi=73)

(VY o Vi 5SS Loaie)

73Emmeme] 224 1542314]

(X)

B Exponential regression
B Regresion exponencial
B Régression exponentielle
|_Eict 4@}

B x|+ 8
B Regresi eksponensial
TSN

Formula: / Férmula: / Formule: / 23 :/ 24 :
Rumus: / :dolat!

y =A.e8X

*Input data items are the logarithm of y (Iny), and x
which is the same as in linear regression.
*Operation for correction is basically the same as in
linear regression. Operate @@&] to obtain
coefficient A, x @ for estimator y, and y
(2] for estimator £. Note that Liny, Z(iny)?, and
Zx:Iny are obtained instead of Ly, Ly?, and Lxy.

*Los elementos de datos de ingreso son el logaritmo
de y (Iny), y x que es similar como en la regresién
lineal.

*La operacion para el clculo y la correccién del coefi-
ciente de regresién son basicamente similares como
en la regresion lineal. Opere BR)(A)E# M€ para obte-
ner el coeficiente de A, x (P63 para el estimador
. e y (n&(Z) para el estimador £. Observe que Tiny,
g(lny) , ¥ Ex-Iny se obtienen en lugar de Ty, £)?, y

Xy.
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“Les articles de données entrés sont le iogarithme de
v {Iny) et x qui est le méme que dans la régression
linéaire.

*|’opération de la correction est fondamentalement |3
méme que dans la régression linéaire. Opérer
A (A) G ed pour obtenir le coefficient A, x (Z] () (ex)

pour la valeur estimée de 7 et v [mEM(Z] pour la valeur

estimée de £. Noter que Xiny, L{iny)” et Lx-Iny sont

obtenus au lieu de Yy, Ly* et Xxv.

cBRAEBMBEE OO (Iny), ™ x RERER
#8[E)

EIEREE AR LR EREIEAER
fHRIE 5 11 B (A) S0 (€D 3 7] K 15 A R
B1E 2 BN e AR IBHEE Y. BRAE v (NERE)
FCREMBMET EEE Sy, S(ny)? I -
Iny BH 3y Iy F0 sxy KB KRG

booe e Aedel ) wieh Zol viny)et veof oy

el A o

Aol A BIAJEIED ], P E x| o
F0, xuiopxlof thet v (In)@EeR)

. . Y e
ol Yiny, Y(iny)'. Yxedny &

» & LHA Slof X[ o Aol FelstAl L.

*Data masukan adalah logaritma dari y (Iny) dan x yang
sama dengan dalam regresi linier.

*Operasi untuk pembetulan pada dasarnya sama den-
gan regresi linier. Operasikan ) [€Funtuk

memeperoleh koefisien A, x Z)Em (€ untuk nilai tak-
siran J, dan y (In)E(&] untuk nilai taksiran £. Perlu
diketahui bahwa Tiny, L(Iny)?, dan Lx-Iny masing-
masing diperoleh seperti hainya Ly, £y?, dan Lxy.

saadl ga x5 (INy) y saadl il s Aatall UL ags «
il a3 LS Laill i o s
Ula 3 Laisdl s Lalcad pa analdll b e Joisill o
S Je Jpanll (€3 ) (A) @) Jick bl pal,
Jidy o P Bl Ll e Jseaall @ [ ([ x Jis A
a1 baY £ il el Je Jyensll (Z) [F) (In) ¥
aaill o Y Lx-lny 5 Eliny)?. Tiny ee:ﬂ‘\)id,:-cé"

Exys Ly . Ly

~194 - \4¢

e W ot e,

Ex.) / Ej.} / Ex.}) /B1)/ o)/ Contoh)
xi | 69 | 129 {128 [ 267|351 |
yi | 2141157 127 | 85 | 52 |

Find A, B, r, £ and § using the above figures es a basis.

Calcular A, B
anteriores.

Trouver A, B, r, £ et j en utilisant les chitfr
comme base.

Aoz g0 2As e
TEtAl L.

Caritah A, B, r, £ dan § dengar menggunekar angka-
angka di atas sebagai bas

YLV | oA

RN
A)OJ VYOV | VoL | v s m

Paladieh § 5 £ .7 (BLA e S 4 any
el Gl

“LR” FBEI6()9 6N 6.9

LR el aai i 214w 3.063390522

12[08ER15(J7mm 2.753660712

1S(08ER 12D 1[mEw] 2.493205453

26(D7ER85M@m| 2.140066163

35D 1EA5D2[mm, 1.648653828

ENAEDE, 30.45758742

{A)

EAE) - 0.049202708

(B}

@M —0.997247351]

(r:
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(When xi is 16)
(Cuando xi es 16)
(Lorsque xi est 16)
Wi ERI68F)

(xi7} 162] AR)
(Ketika xi=16)

(Vo XT Lad 555 Loie)

16DEDE 13.87915739
(12

(When yi is 20)

(Cuando yi es 20)

(Lorsque yi est 20)

By SR 208)

(yiz} 202 A#2)

(Ketika yi=20)

(Y o2 Vi 2 0S5 Loie)

20 (&M@ 8.574868046

(x)

B Power regression
B Regresion de potencia
B Régression de puissance
WEHEH
m Y 37
B Regresi perpangkatan
Gapaadl 34801 g3 palyill
Formula: / Férmula: / Formule: /AR :/ B4 :/

Rumus: / :dstatl
y =A.

*Input data items are Inx ang Iny. v th sin

*Operation for correction is basica e same as i
Iinpear regression. Operate @@@ to obtain
coefficient A, x ([INZ)E€Ed for estimator $, and y
(n)e(Z)EEed for estimator X. Note that Zinx,
E(lnx)?, Tiny, £(iny)?, and Cinx-Iny are obtained in-
stead of Ix, Ix2, Ly, Ly? and Lxy respectively.
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*Los elementos de datos de ingreso son Inx e Iny.
*La operacion para la correccién del coeficiente de
regresion es basicamente similar como en la regre-
sion lineal. Opere @H(A) (€ para obtener el coefi-
ciente de A, x (@) para el estimador 7, e y
@)@n)Eed para el estimador - £. Observe que
Zinx, Z(inx)*, Ziny, Z(iny)?, y Linx.Iny se obtaienen
en lugar de Zx, Lx2, Ly, Ly? e Lxy respectivamente.

*Les articles de données entrés sont Inx et Iny.
*L'opération de la correction est fondamentalement la

méme que dans la régression linéaire. Opérer Eir)(A)
(€3 pour obtenir le coefficient A, x &]@

pour la valeur estimée de J et y (In))(Z)Er(€d pour
la valeur estimée de £. Noter que Zinx, T (Inx)?, Ziny,
Z(Iny)” et Zinx.Iny sont obtenus au lieu de Lx, Tx2,
Ly, Ly? et xy, respectivement.

CRAMMIREE B InafMiny,
EERIEAEREAR M EREBAERE,
IR 48 4F @) ()@ ) S AT RS IEM A,
BRAF x(In) D)ED(E REATKSGHBES .
BAE y MENRENE RET RSB E D,
FEB SN2, 2(Inx)A Siny. S(Iny) 2813 Inx+
Iny &M 2x (222 | 3y, Iy B0 Zay ABKE,

‘2 oolEle] S22 Inx 9 Iny Q.

‘T Ao HEL JENoz MuslI g Sust
Aol AixE Psiaiet MNR)MNED 5|2, jmyrxiol of
ot x= [PENED 718, 2H7txiol et y = [RERE)
Eed 518 szt

Zinx, Z(inx)’, Ty, (ny)?, Cinx-Iny & 27| £x,
Lx?, Ty, Ly, Lxy 2 Ohixllsls Zol Fof.

*Data masukan adalah Inx dan Iny.

*Operasi untuk pembetulan sama dengan dalam
regresi linier. Operasikan Bi)(A) E#F)€d untuk mem-
peroleh koefisien A, x [In)(3)(#(€d untuk nilai taksi-
ran 7, dan y (In)&m(@Z)EFEd untuk nilai taksiran £.
Perlu diketahui bahwa Zinx, Z(Inx)?, Ziny, £(lny)?, dan
Llnx-Iny masing-masing diperoleh seperti halnya Lx,
ILx2, £y, £y? dan Txy.
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*

Ainy) y Y;’.E,)\.L,J,(Inx)J\' aanles) oo AT SUL a5
Ula 3 Joictill i Lolaod 98 poamemill Jal Go Joidall o
Jelall e Jyeanl) €9 G () ) it (bl o
P Lpamalt el e Jyanll €36 D () x iz A

% Dol Ll Je Jseanl) (€8 6D (2) ) (i) ¥ Jiis
« Ziny .Zlnx)? « Zinx hﬂ‘yw‘éﬁ‘ Lay
Ly Ty (Ex? Ex il se Y Zlnx «Iny 5. Zlny)?

coill Je Txy s

Ex.) / Ej.) / Ex.) /#1)/ell)/ Contoh) /
xi 28 | 30 | 33 | 35 | 38
3033 5717

yi 2410 3895 | 4491

Find A, B, r, £ and § using the above figures as a basis.

Calcular A, B, r, £ e § usando basicamente las cifras
anteriores.

Trouver A, B, r, £ et § en utilisant les chiffres ci-dessus
comme base.

S FFIBEKHEA B r . BT,

JExoz 9o RXSE 0I8310f A, B, 1, X, §

E AR,

Carilah A, B, r, £ dan » dengan menggunakan angka-
angka di atas sebagai basis.

YA Yo vy v YA xi |(Jae

oVAV [ £84Y | YAQ0 | Y-YY | YEN- yi

Tl Y1 plasinls § oy X 0BLA G JS T ol
okl

“LR” @@ 28@ES|___ 3.33220451
“LR adll aal i 2410[@Em|7.787382026

30MmEN3033MmeEn|  8.017307508
33mER3895(NEm|  8.267448958
35([EH4491[MmEw|  8.409830673
38MEN5717mEm] 8.65119947

0.238801092
(A)

) (&) 6 (9]
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2.771866138

8)

&) 0.998906254

(r)

(When xi is 40)
(Cuando xi es 40)
(Lorsque xi est 40)
& xi EH4085)
(xi7} 402 ZA=)
(Ketika xi=40)
(£ 2 X daid (585 Loic)
40 () & e 6587.674751
)
(When yi is 1000)
(Cuando yi es 1000)
(Lorsque yi est 1000)
B yi F K 10008%)
(yiZ} 10002 A<
(Ketika yi=1000)
(Voo oa V2 5585 Loie)
1000 (in) ) () 6 €3 20.26225662

(x)
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